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1 g e i e S T A weerE) i S T T2

(1)  vETeiEHT Tmer (2) 1 RS GAESia

(3) WHfEF Wa deoardl FHHH (4) USw A JHRT

Which of the following is not an objective of central government’s scheme ‘National
Horticulture Mission” ?

(1) Establishment of Nurseries (2) Rejuvenation of old fruit crop

(3) Construction of community tanks (4) Plantation on waste lands

2, NG fer TR FEvEEt TEd / P U

(1) foim i o e S TR R ES 0
T ST TR GouE] §e

@ fom TR = e SRt ot RTEH 1000
T & ferdi @ e

3y fam iR = WW x 1000
= A T A

(4) adEdTI FIORE T

Sex ratio in India is calculated as :

Total No. of Females in a particular area

1) Sexratio = x 1000
M Total No. of Males in the same area
%) Sexratio = Total No. of Males in a particular area % 1000
( Total No. of Females in the same area
Total No. of F i i
(3) Sexratio = otal No. of Females in a particular area % 1000

Total population in the same area

(4) None of the above
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3. merg e Ao e qSieriset v gy JrE
(1)  sieTei=at THE SRR goll HROL,
(2) FHE ITHAEE TE At GEUr agfauararet.
(3) ekl YTk dIfF 3MgR TearEial,
(4) T F fq=a aIeTeRTal THE SRR S GHRO,
Mid Day Meal scheme objectives do not include :
(1) Improving the nutritional status of children.
(2) Encouraging poor children on classroom activities.
(3) Providing nutritional support for children.
(4) Improving the nutritional status of mother and their children.
4.  HOYUE T G ASHER THIOT HIT W=l M et S @1 dseesiar 9 e s
HA FHIG HHT EREIIGIER e I ECIR RS
(1) 500 (2) 700 (3) 900 (4) 1000
Pradhan Mantri Gram Sadak Yojana is to provide road connectivity in rural areas. The
eligibility for this scheme is habitation with a population of persons.
(1y 500 (2) 700 (3) 900 (4) 1000
5. Wcteds! wve vl dihden s 6y o

(a) HITS- e qafaR (fedt) onftn dergen arte Tar(d= Sifi o gay.
(b) TREEAEl SHR A FET Uhar AT HEAEw ST

(c) TATEX 37 dlieh AT Herd Way Tia SvaEeian 7a

(d) T fafas Sfirss) snftn waferm wr=n swefqet st

uatdr 3w
(1} (a) B (2) (d) T
(3) (b sAf (d) Fet (4) () S (o) ekt

Population study deals with :

(a) complex and qualitative relationships between socio-economic environment and
population.

(b) the quantitative study of size and processes of population growth.

(c) rapport establishment with environment and people.

(d) the meaningful study of different characteristics of society and its environment.

Answer options :

(1} (a) only (2) (d)only

(3) (b)and (d) only (4) (c) and (a) only.
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6. W W A FIF A
(a) T FH FLOH heles Gelied Fe{uen
(b) fEiwgEn W THeTn AkhHE
(c) % aior Wl grean SyefeaTeAE VR SAeh e

(Q) HFB FATANTF &AW FHH FHLOTA FHHTLA BRIV

et I

1) @) @ @FAE @) @aAE (@) (b))
Labour Force has been equated to

(a) only those organized labourers who are working in Industry.

(b)  economically active population.

(c) individuals who take part in the production of economic goods and services,
(d) only those unorganized workers who are working in informal sector.

Answer options :

1) @and(d) () @and(®) () @ad@ (4 () and

7. T e ARG T - 3 TUR YRA SRTATH $iezs! SuarEEt Hiv wiafien 65 8n ?

(a) "N JTHRE & (b) Qe FTEE A

() fm-a@d duwr & (d) JTEfCH dEuFE &
TReTieh! HR fayur/3 ateat sm/a?

(1) (a) @for (@) FoHT (2)  (b) ST (c) e
(3}  (a) K 4) (b)wx

According to National Family Health Survey - 3 which sector remains the primary source
of health care in India ?

(a) Government medical sector (b) Private medical sector
(c) Semi - government medical sector (d) Herbal medical sector
Which of the statement/s given above is/are correct ?

(1) (a) and (d) only (2) (b) and (c} only

(3) (a) only (4) (b only
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8. I e &

(a) WEHH ATYHIY AT HATIF STHURA
JURUE T{e HogmErdt fas #rme (2004)

(b) FHt W [aEE S 99 TE (2005)
() FH FSEERYIEE 99 T (2007)

(d) fafas w9 SfFT (2006)
(@ (b) () (d)

O @ @ @) (@)

(2) (v) () () (i)

(3} G G @) ()

4y @) @Gv) @) @)

Match the following :

(a) Task - force to examine the reforms required in
the Co-operative Banking System (2004)

(b)

Expert group on investment credit in
Agriculture (2005)

(c) Expert group on agricultural indebtedness (2007)

Committee of financial inclusion {2006}

@ () (o (d)
N O @ @) @)
(2) (v) (1 () ()
@) @) () @(v) ()
(4) @) (v) (@) (i)

(i)

(i)

(i)
(iv)

. T

e

EleAte: RN

R.Radhakrishna

C. Rangarajan

Vaidyanathan

Y.S.P. Thorat
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9. FaAvHEd! T TRISFIR FeAe TR s SEHe] a8 gang A IR ae wi
71 Tjfedren nuR HIt T e 2
(a) TSR WA Snfh aa gl g wE (b) —WHEE USTIR [ferurel qeqg e
() EEd By foww glauE @qe FF1 (d) SRS 9EE w8
FheTId! R/ B faym/ T FOEw 3 18/d 2
(1) (b) B (2) (a) v
3) (a) #| () HH 4) (a), (c) 3nfor (d) HH
Philosophy of the Swarna Jayanti Gram Swarozgar Yojana (SJGSY) is based on the
assumption that carefully selected viable economic activities suitable to each area should
be promoted by :
(a) Provision of infrastructure and credit facilities.
(b) Provision of community employment facilitiy.
(c) Provision of entrepreneurial skill development facility.
(d) Provision of marketing facility.
Which of the statement/s given above is/are correct ?
(1) () only (2) (a) only
(3) (a) and {c) only (4) (a). {c) and (d) only

10. THAF smERA 99 2002-03 § 2011-12 1 SEEHERET 7w TSR GEAT S0H e S
FOGEIST i arfrsoar qiedian IUEnT e d BN,
(a) MERE feerdt s SiE W, 91 5.5%3TR.
(b) eERyE feerdt s o1 LA 9@ 6.5%3TR
(c) o= o feudt s S, €. 1. 916 8% TR,
(d) AT e feudt 9@ . € W ' 9%,

ST o] faam FaT 3R ?
(1) (@), (b) 37 (c) o (2)  (b), (c) A (d) e
(3) (¢}, (d) 3T (a) I (4)  (a) W (b) Pt

The Planning Commission made an alternative projection for employment in the period
2002-03 to 2011-12 using three additional assumptions about the rate of growth namely :

(a) a base line scenario in which GDP grows at 5.5%

(b) a base line scenario in which GDP grows at 6.5%

() a high growth scenario with GDP growth at 8%

(d) arapid growth scenario with GDP growth at 9%

Which of the statements given above are correct ?

(1) (a), (b) and (c) only (2) (b)), (c) and (d) only
(3) (), (d) and (a) only (4) (a) and (b) only

Hodl FHIATHEGI AT / SPACE FOR ROUGH WORK

P.T.O.


Admin
Line

Admin
Line


JO4 8 A

11. AR SIOAT SFEara™ (2001) 20 0 Vsl SI%Ee aere e 9] soains] aeiieo
Fe! IR, FTed o T AT AN S e

(a) 1901 - 1921 () orfqereren fudt wefast
(b) 1921 - 1951 (i) WFTERH O A%

(c) 1951 - 1981 (iiiy e =am@

(dy 1981 - 2001 (iv) dTEH AR

it I

(@ (b} () (d)
L O @ @) Gw)
(2) () () @v) (@)
() (v) @) () @
(4) () (v} @ (i)

The Indian Census (2001) has classified or charted the momentum of population growth
during the twentieth century into four distinct phases. Match each phase with the
appropriate class :

-

(a} 1901 - 1921 (i)  Dissipating high growth
(b) 1921 - 1951 (ii)y Stagnant population

(c} 1951 - 1981 (i) Steady growth

(d) 1981 - 2001 ‘ (iv) Rapid growth

Answer options
@@ @ (o {(d)
@ @ @) () 3Gv)
@ ) @) (v) ()
(3) Gv)y () @) @)
(4) @) (v) () (@)
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12. (a) YRA WUHRA AFE GO faehe a1 diTem TaearE ST 1985 Wl e,

(b) A o TS Ao fAE T M g,

Fa 3 fAuERE! SR AT 3R ?

(1) %3 (a) (2) e (b) (3)  HoRE (4) R

(a) The Government of India created a separate Ministry of Human Resource

Development in 1985.

(b) Until then it formed a part of the Sociai Welfare Department.

Which one of the above two is incorrect ?

(1) Only (a) (2) Only (b) (3} Neither (4) Both
13. YHRAEA §d B GRS H w7 ST e -

(a) TR HLTATE gouT HATé YU M fHesd .
(b)  TH HLOATH! A H® YU F (Heed AR

(c) THHEE USFIR Fetea TR ST S1UE HRH TFEA FIHEE G Heedl.
(d) T FOATE T AT A DT BT .

it 397
(1) (=a) 307 (b) 2 @ (3) (a) 3 () (4)  (a), (b) 30U ()

The unemployed consist of all persons who are :

(a) willing to work but could not get work.

(b) able to work but could not get work.

(c) ontemporary or indefinite lay - of where employment opportunities are very limited.
(d) not willing to work therefore avoiding work.

Answer options :

(1) (a) and (b) (2) () (3)  (a) and (c) (4) (@), (b) and ()
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jq,  TT ST IV YRATAl Soe @RS e AT HiKor AT 7
(A)  IUEHHUTE S ddeol
(B) @mEiE® faag
ugiyg
(1) Fa% (A) () 99 (B)
(3) At e (4) O
Which of the following two is not a cause for the rapid growth of population in India ?
(A} The tropical climate.
(B) Universal marriage.
Options :
(1) Only (A) (2)  Only (B)
(3) Neither (A) nor (B) is true (4) Both (A) and (B)
15. YEE Fd faum ey o ?
(1) 910 3TV 4. TH.0 =01 5 - T99 1 TRy YR s e 4.06.0.9 4, U5, TH. 3T, =1
Uehd AhEEH AR T2 R,
(2) 9RG yEEd AT HRHEd U A Sied iR,
(3) WHArd WEREE AMFF @ Al smiade 55 Sy T ASHBATae! e,
(4) 9RAT #H1S Yedw ffemn 74 qol FHam.
Which of the following statements is incorrect ?
(1) India is just two fifth of USA but India’s population is more than two and a half
times the population of the USA and USSR put together.
(2) India adds one Australia to its population every year.
(3) Indias population is equal to the total population of 55 countries of Africa and Latin
America.
{4) In India today 74 babies are born every minute.
16. TEE @WReA fam e (RSBY) R Aieuiihd Fzame HHG@ FHHT ... wugi= fam oy fag

yraRdl.
(1) ¥ 30,000 (2) ¥ 40,000 (3) ¥ 50,000 (4) % 1,00,000

Rashiriya Swasthya Bima Yojana (RSBY) provides health insurance cover of ¥ ___
to each enrolled family :

(1) T 30,000 (2) T 40,000 (3) T 50,000 (4) ¥ 1,00,000
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17. ‘WEwen o fowm’ @ fauwner 1994 7ed HY A9 uﬁwm@nwﬁu&azowﬁamm
FHIvaTe AU IEP (3d) Hio! 2l ?

(a) FAYTH THT T 1000 el STERMAT 35 IAgysT &H1 S0,
(b) SHE: 93 9 75 e SRS TgHA A,
() TEHEH THM T 1000 TeIedt ST 45 SEegasn &H) FTul.
(d) TG 30 9 70 Fe1 SR STHA ATEfao,

e Fime frem e o ?
(1) (a) @i (b) BeFd (2) (b} M (c) Bk
(3) (<) T (d) e (4)  (a) ST (d) ki

In the International Conference on population and development held at Cairo in 1994
what were the goals set for 2015 :

(a) reduction of IMR to below 35 infant deaths per 1000 live births.
(b) increasing life expectancy at birth to more than 75 years.

(¢} reduction of IMR to below 45 infant deaths per 1000 live births.
(d) increasing life expectancy at birth to more than 70 years.
Which of the statements given above are correct ?

(1) (a)and (b) only (2) (b)and (c) only

(3) {(c) and (d) only (4) (a) and (d) only

18. SIMfde AT HEeTE ASEA AIEA FHee et wie fo 1M =T
(a) ST WAERIERT Srade e,
(b) FURE AR Gauret Svaedt anfir @,
(c) e fowm o demg Rt 3.
(d) HafEE) sHrE
Tt wivd faur/= a0& AR/d?
(1) (o) SFOT (d) For () ©FF  (3) (b) 3 (a) WH (4) (d) FH
One of the WHOs biggest achievements to date is :
(a) provide a 'home’ for global partnerships.
(b) gaining access to improved health facilities.
(c) evidence - based framework and treaty for tobacco control.
(d} Health for all.

Which of the statement/s given above is/are correct ?
(1) (a)and (d) only (2) (©only (3) (b)jand (a)only (4) (d)only
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19. YRAMS SERIAET H4 @ AR ?
(1)  aTdrel T SRR seatien sifirk afyem sme, I 9w, farr, ¥ 9 difveg @
T EER AR, (1990 SR ARRSan)
(2)  TITHYOT BT ST WHTOT Ve SiSTen FH A
(3) =N &3 HET AT AHH SAHH L.
(4) faftrd «is SRR AR FEAeH TR dHhR=a TH a4 A 3.

What is not true of the unemployment in India ?

(1) More than half of the total unemployed persons in India reside in West Bengal, UP,
Bihar, Kerala and Tamil Nadu. (statistics of 1990).

(2) The incidence of unemployment is relatively lower in rural areas than in urban
areas.

(3) There is greater unemployment in industrial sector than in Agricultural Sector.

(4) Unemployment among the educated is much higher than overall unemployment
found in the nation.

20. HBIH T AHE TTHT §H RS wAfHe 329 FIv 2
(a) WO g frum seufaierdt FHfbmar g,
(b) AT FEaiA fRTE srreraT e qa,
(c) T FEai formm ASTRrE geiimd e,
(d) Tmtor FEEN oRmT SaArt gRan R,
Flertent @i /ot faur /2 aiEe /a2
(1) (a), (b) 37T (d) w4 (2)  (b) 3 (c) FHT
(3) (a) 4)  (a) 3 (b) H

The primary objective of Mahatma Gandhi National Rural Employment Guarantee Act
{(MGNREGA) is to :

(a) provide minimum livelihood security to rural households.
(b) provide mim'n‘ium food security to rural households.

(c) provide minimum employment security to rural households.
(d) provide minimum wage security to rural households.
Which of the statements given above is/are correct ?

(1) (@), (b)and (d) only (2) (b) and () only

(3) (a) only {4) (a) and (b) only
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21. dfgen (WefyE) wgel uew WUA GHSE ARTT HETHl T fhdt eiheEEE sl S ?

(1) 20,000 T 30,000 FHTEA (2) 3,00,000 @ 6,00,000 ATeHREEA!
(3) 80,000 T 1,20,000 elwEEA (@) 3,000 @ 5,000 FHETEA
Community Health Centre as first referral unit is established for every :

(1) 20,000 to 30,000 population (2) 3,00,000 to 6,00,000 population
(3) 80,000 to 1,20,000 population (4} 3,000 to 5,000 population

22, TASRUATH. = S FL&I A1 & U Aig! S ST <91
(a) T AiEE AiRd HEATEE g YA @Y HAedE ST ateion Ue e e,
(b) e afgain A6 WY JaAE T I FRI SO g WRA .
(¢) THA ufgeri ofyd: Hrwd TR Qo<1 oy Uaeard FRI 3R i@ @ fired.
(d) T Higenar SivE: wd SEeTHe qIge Yo oY Yaedrd w1l Ity Aa ey i,
Fheta! Hiv fasEA aeT SR/ ?
(1) (b) 30T () K (2)  ({c) 300 (d) Fekd (3} %R (4) (d)wH
One of the largest component of NRHM is Janani Suraksha Yojana which offers a :

{(a) conditional cash transfer to poor women for availing free institutional maternity
services.
(b) conditional cash transfer to poor women for availing free maternity services.

{(c) conditional cash transfer to poor women for availing partially free maternity services.

(d) conditional cash transfer to poor women for availing partially free institutional
maternity services.

Which of the statement/s given above is/are correct ?
(1) (b) and (c) only (2) (<) and {d) only (3) (@) only (4) (d)only

23. '$fU AEE AT (IAY) W, STEaEE 51 SiE e aNgret TR thy g T ATHgA
BIUTFAT @A 9T (3T91) & 37R ?

(1) 80:20 (2) 50 :50 3y 75:25 (4) 60:40

Indira Awaas Yojna (IAY) scheme provides assistance to weaker sections to construct

shelter, for this scheme what is the cost share between the centre and the state
respectively ?

(1) 80 : 20 (2) 50 :50 By 75:25 4) 60 : 40
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24. @r&ﬁaﬁaﬁﬁvﬁmﬁw@uﬁmmm/a?
(a) 3 9. 2015 Tq ¥ gern wafrs fagora qEfywn
(b) 3 W. 2020 Wq U SNl SIAFTHHTA ST WA 2/3 A FHH! HI0,
(c) 3 ¥ 2010 v¥a WRN qeg - Squier St s,
(d) 3 9 2020 Ta afa e TeUTN S E 1/2 wdid wH S,
T HIR fauH /3 ST AR /T ?
(1) (a) 3T () T (2) (b) NN (d) ®FF (3) (a) B (4) (c) IO (d)
Which of the following is/are the international development goals 7

(a) Universal primary -education to all children by 2015 AD.

(b) A reduction by two - thirds in the mortality rates for infants, children below 5 years
of age by 2020 A.D.

(c) A reduction by three - fourth in maternal mortality by 2010 A.D.

(d) A reduction by one - half in the proportion of people living in extreme poverty by
2020 A.D.

Which of the statement/s given above is/are correct ?

(1) (@) and {(c)only (2) (b)and (d)only (3) (a)only (4) (c)and (d) only

25. ‘dard Aigen e ST GeleTdh Hio SRy AR 2
(1) favria d9aae sRieH
(2) T YR SHerl T
(3) wrwigEa wieen wfatrdian W9 e w1
(4) SlertEl THE AR
Which of following is not an objective of ‘Panchayat Mahila Shakti Abhiyan’ ?
(1} To organize Divisional gatherings
2} Establishment of State Support Centres

{
(3) Founding of elected Women represeniative’s group
(

4)  None of the above
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26. HerERm fadhdla fram 9imm R SHaiiE Fee AR 4% Fe 2

(1) vigel d=-=nftw g ) foud d9-aidw g

(3) T=el gg-aifdE AT (4) et g9-;fw dem

Maharashtra has introduced decentralised planning process since the beginning of the :
(1) First Five - Year Plan (2) Third Five - Year Plan

(3) Fifth Five - Year Plan (4) Seventh Five - Year Plan

27. ‘oTeasr’ 91 Hed Tl YR UEE] 4wt U (Hi¥E scusu SiSeIN 3E, ¥ %l Slad
EEl

(1) SSISAA HE! TH FH sheied A& T o oAbt FH MU 241 feher FHETST 3974

.

(2) SSASUA U A9 G FH okt A8 9 W AT M WHd A T wemErEt
ITAH AT

(3) STBISIARA W= 1F &1 FTH ehaled A8 Ty ot AT HH AU 3N e wrme!
IqcTed TR

(4) SNSASINA Hel aTd g1 HTH herel At Tig df bt | Wyd o7 e wrmanat
ITAH L.

On the basis of week as the reference period a person is considered unemployed by Current
Weekly Status (CWS) if :

(1) a person had not worked even for one hour during the week but was seeking or
available for work.

(2) a person had not worked even for seven hours during the week but was seeking or
available for work.

(3) a person had not worked even for five hours during the week but was seeking or
available for work.

(4) a person had not worked even for six hours during the week but was seeking or
available for work.
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28. SIS TG WeA= ST 371 deiel SN SIRTARS YIvaTEl IVl 76l geisi foom ?

(a) & FEfAHR (b) Smfasw HEfFare
(c) dfvas gfaware (d) wTE FEfERaTe
TSt FIvR faurd/ aE R/a 2

(1) (@), () 3 (d) wF (2)  (b) S () T
(3} (a) ® (4) (b) %

World Health Organisation (WHO) after Alma Ata Declaration revealed a new approach
towards health care ,ie.:

(a)  New universalism (b) Global universalism
{c) World universalism (d) Future universalism
Which of the statement/s given above is/are correct ?

(1) (a) (c) and (d) only (2) (b) and (c) only

(3) (@) only () (b)only

29, MNAWIS SRl TEet S aTavaTaTat TP AT FEav] (H.UH.EH, ) - W] Shive sl
UG el TR ?

(a) fEfm@TTm@M () I (€) Afufos dsrd (@) Fd-Dsd

gt 39
(1) ({(a) afm (c) ®ed (2) (b HI| (d) e
(3)  (d) wd (4) ()

Which of the categories has not been used by National Sample Survey (NSS) to refer the
status of employment in India ?

(a) regular employment (b)  self - employment
() casual labour (d) under employment
Answer options :

(1) {(a)and (c) only (2} (b) and (d} only

(3) (d)only (4) (0 only
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30. ‘WERI HEY AYFE 3T U0 HEHR AV I gal’ § Uagiias A ®iv wied 7
(1) o 99 FEE "l (1954) (2) Ao vy A WhET (1966)

(3) T& ©H HEHRR WRA W (1915) (4)  Fol TS Feal L /et (2004)

The historical statement “Co-operatives have failed, but the cooperation must succeed”

made by :

(1) The Rural Credit Survey Committee (1954}

(2)  Rural Credit Review Committee (1966)

(3) Mac Lagan Committee on Cooperation India (1915)

(4) Advisory Committee the Flow of Credit to Agriculture (2004)

31, (a) WY T TV S Wewd: fgwa 3R oed St wd 181 W 2015 W MevaTs
el 3T,

(b) WeE® faH™ (MDGs) 3fepitet ar feps yegaraor sRrameh Hefya 1.
T N faurids! S @Y g ?
(1) *a% (a) (2) @ (b) (3)  RIUTdG! el (4) R

(a) The United Nations Millennium Development goals are eight in number that all 181
members have agreed to try to achieve by the year 2015.

{b) Four of the Millennium Development Goals (MDGs) are directly concerned with
health.

Which one of the above two statement is correct ?

(1)  Only (a) (2} Only (b) (3)  Neither (4) Both
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32, TPE @SN O9RW 2000 = e Afuw ww
(a) wiRHE [0 (HEes 99)
(b) = SETAETE] S5 YR (T[0T 959)
(c) ToapmmEmET AR
(d)  Fga T
watHt 39 ;

(1) e (b) (2) (a) e ()  (3) S (0) 4) FF (d)

National Population Policy 2000 emphasises on

(a) population control (quantitative dimension)

(b) improving the quality of life that people lead (qualitative dimension)
(c) urbanization for development

(d) family planning

Answer options :

(1) Only (b) (2) (a) and (b) (3} Only (c) (4) oniy (d)

33. 3. 9. 2011 A% WRAH FHIUe IR Yuia: 3fivd giaen 3uER yeR fawihd e ?

(a) ®ifefeq (b) TfeAst () =F (d) wEIE

qaigt 39T

(1) (2) 30 (c) W (2)  (b) 30 (d) F B) @%F (4) (b)FH

In 2011, India developed a totally drug - resistant form of :
(a) Hepatitis (b) DPolio {¢) Tuberculosis (d)y HIV

Answer options :

(1) (a)and (c) only (2) (b)and (d) only (3) (cjonly (4) (b)only

34. STIfE AR WeEde AT -
(1) od AFH TR Gai= Qe e T
(2) oRrT a Hudl
(3) AR Hak AEETE 9™
(4) T R FAlRl=1 B
Mission statement of World Health Organization -
(1)  Attainment by all people of the highest possible level of health.
2)  Health is Wealth.

(
{3} Health of paramount importance.
(4) People’s health is in peoples hands.
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35. 9 Sew Yo

(a) wrE g fasmEmdte fem () e Al

(b) WME Tyw fawrETE FE 89 (i)  TTUREIET WV WA T a% Wit W fo=r

(c) e wie fashrrg sftelfes &3 (i) U9 gfauren SO 3w #r

(d) wre WA fosemm gd 8= (iv) waevrg anfor afifeerdter snurlia 99

(@ (b)) (o) (d)
1y @ Gy dip v)

) (i vy (1) G

3y (i) @) @G v)
H (v) O @ ()
Match the following :

(a} Education in HRD (i)  Value orientation

(b) Agriculture in HRD (i} It treats people as resource and not
human beings

(c} Industrial Sector in HRD (iii) Make the full use of credit facility

(d) Tertiary Sector in HRD (iv) Indigenous and situation based efforts

@ (b)) (g (d)
1 O @ @) (v
2y @y Gv) @ @)
() @) ) @ ()
4) (v) @ @) (i)

36. ‘wen' @ Weiadst SR e T
() Fremaifed e g
(2) YsmafivyE Fm
(3) THEW RrERE FES M
(4) AR HLE g it Aig e
Which of the following is not a salient feature of ‘MGNREGA' ?
(1) Time bound guarantee of work
(2) Labour intensive work

(3) Gram sabha recommended work
(4) Muster roll to be maintained by the contractor
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37. TP AR 910 2002 7 2010 THF IRAE TEE] TF (Rl 29k FI0GTET e S Bl ?
(1) TEO ATy GEE 30% (2) TFT ARE GEr= 27%
(3) UFI AR T 33% (4) TERU SRFE @l 35%
‘National Health Policy 2002" projected the public expenditure on health by 2010 as :

(1} 30% of the total health expenditure

(

2y 27% of the total health expenditure
(3)  33% of the total health expenditure
{4) 35% of the total health expenditure

38. HAYT AHE] HHAHHT T a6 Grevarel mEdt fasra fdeie gamE anem v ?

(a) feaiga Freeres (b)  fomarr wret

(c) S &R (d) | eviaETE T
FLTART FIT fAE TR 208 7

(1) (b) = () T (2) (a), (b) ST (d) PR
(3)  (a) 30T (c) et (4)  (©), (d) 3T (a) e

The human development index was formulated as a measure of average achievement in
basic human capabilities based on :

(a) indicators of longevity (b) educational attainment
{c) level of income (d) decent standard of living
Which of the statements given above are correct ?

(1) (b) and (c) only 2y {(a), (b} and (d) only

(3) (a) and (c) only (4) (¢}, (d) and {(a) only

39. ‘g’ W TIEld A T s w4 gra g

(1) T g AR (2) YRUEE SETHY

(3) wiEar s=d e (4) WO 3T

Micro Finance refers to small scale financial services extended to the poor in the following
area :

(1}  Rural and Urban (2) Industries in cities

(3)  Women Self help Groups (4) Rural Industries
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40. gAY Ve wa dei g fes TReeEs Foen A= e geR FE e
e ?
(1) eifER Afbd onfor 9eta 9fadt (2) s wftet i e |
(3) T= wiHdt i SifRER | (4) e WiHd! AT 5w S

Most of the district level schemes have been transferred to the Zilla Parishad on the
reccmmendations of :

(1) _Bongirwar Committee and Patil Committee
{2) Naik Committee and Patil Committee

(3) Rac Committee and Bongirwar Committee
{4) Mehta Committee and Naik Committee

41, I S el
(2) OO E-AfE AT
(b) UE! gH-AE A () AR anfear fae e
(c) el To-anffE Ao (i) owifcamd 39T
() Taet gg-aifte AN (iv) S & ST Secier suftt wrtaE =
ugidt 39
(@ (b) () (d)
1) Gv) @) @) @
@) G) @) @ ()
@) () @) () (i)
4) O @ (@) (v)

i)  sTovER fauy dieer snfor ISR wEwE

Match the following :

{a) Second five-year plan (1)  Crash Special nutrition Programme and Crash
employment Programme

(b) Fifth five-year plan (i) Separate Tribal Development Blocks
(c) Fourth five-year plan (iii) Tribal Sub-plan
(d) Ninth five-year plan (iv) Social and economic empowerment and

Social Justice
Answer options :

@@ (b) (o (d)

1) (v) G @ @

(2) G @) () (iv)
(3 @) @ Gv) ()
@4 @O @ @) (v)
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42,

22 A

diear siemd qeEs A (fe fe am wm) Fem agg 4
(1) 238" e A JEA / 9 EREHST / THIVITATET arearg 20,
(2) BHA G IA] HEHETRET THE T

(3) & ABIEIE AT qivew, FEvE S o e 3. wrdl wEdet gl srEE
=,

(4) =3&m EHi TPy fors,

Deendayal Disabled Rehabilitation Scheme (DDRS) provides for :

(1)  Assistance to disabled persons for purchase/fitting of Aids and appliances.

(2) National Award for empowerment of persons with disabilities.

(3}  Grantto NGOs for vocational training, workshops and special schools for the disabled.

{4) National scholarships for persons with disabilities.

43.

‘3T sy fE eiEATTeT HRifaeerd / faRis e TR S T AR, 39 ey T
IO WA Hehio HEat ?

(a) Starforr e (by wEISE T
() afwe g (d) TSTET T
et T e ST o 2

(1) (a) 300 (d) B (2)  (b) 3 () Heh
(3) (o) % (4) (d) %

‘A’ has more interest in college/university politics than in studies and research. What
kind of values have been inculcated in ‘A’ ?

(a) Educational value (b)  Social Value
(c) Individual Value (d) Political Value
Which of the statements given above are correct ?

(1} (a) and (d) only ) (b)and (c) only
(3) (0 only (4) (d)only
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44. qEta faurie) S faum wft smed ?

(a) RS fear=a] Head Tery faw=n HHiFE o

(by AT 428 ARERET SHEIHR! TERIPM SH@IE 11% S e

vt S

(1) % (a) 2} W% (b) (3) AR (4) T

Which of the following statements are correct ?

{a) Maharashtra has the third largest tribal population in India.

{b)  Out of the 428 notified tribal communities approximately 11% tribes are found in
Maharashtra.

Answer options :

(1) only (a) (2) only (b) (3)  Neither (4) Both

45. TS four Thgarl 2012 0L} WS 44 A1 YRATG IR 9Rued wof wigst ? ' a1 TR &
ST FYHIC AT JIUr=Ara 59 a7e. € qeere Vo Fgel SIS S0 g W e
FefeaEdr= TR ER AR a1 SEvdd Hived Ja 5%, "

(1) it g s (2) =i mAmEs g
(3) 4. faw I afen (4) 4. fadg

Who stated at the 44'" Indian Labour Conference in February 2012 that, “ Youth
employment is a high priority agenda item for our government. This can happen only if
we equip our young people with skills that are required to meet the demands of our
rapidly growing economy.”

(1) Shri. Pranav Mukharjee (2)  Dr. Manmohan Singh

(3) Shri. Sis Ram Ola (4) Shri. Jitendra Singh
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46. hIg: X Fahid FATE fAfvad S engd. FnEeyid Sreat o,

(a) HYF WY 2009 (i)  16-30 a9
(b) foReiRad T (i) 16-20 94
(c) HgH TP eI (i) 15-24 =
(d) TR gar g (iv) 15-32 o
e 39 ;

(2 (b) {c} (d)
1y @) (i) (i) (iv)
(2) Gy (v) () (i)
(@) ) (1) (v} ()
(4) (v} i) () ()
Match the appropriate age-group with the respective agency :

(a) United Nations-2009 (i) 16-30 years
(b)  Adolscent needs (i) 16-20 years
{¢) UN - Habitat (i) 15-24 years
{d) National Youth Policy (iv) 15-32 years

Answer option :

(@ (B (c (d)
(1) @ Gy @) (iv)
(2 Gy (v) @ (i
(3) @iy () (v) (i)
4 ({v) @) @) )

47. WATAUH! FIVET G / HEHA 2 aIGT 1975 TSt JT HL0ATd S 7

(1) e e famm Qe

(2)  USTIR gt AT

(3) ity wrto fasme FEHT

(4) wiw TE

Which of the following Schemes/Programmes was launched on 2"d October, 1975 ?
{1} Integrated Child Development Scheme

2)  Employment Guarantee Scheme

(
(3) Integrated Rural Development Programme
(4) None of the above
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48, 'gHA AR Glefladh! e @y e ?
(1) <fEEEEd Feam qeien SHal U auien A fasm 718 21 g9 200 &, =01 fam
(2)  STCUYHRE Foamd Yot SHeA™ 21 TR 200 & =1 01 9 18 g6l 2 & .
(3) T YT Hadiwiaa e B FO G 1 omE w9l
(4) i A
What are the benefits covered under the “Sukanya Yojana” ?

(1)  An insurance of Rs. 21,200 within one year from the date of birth to the family
below poverty line in which daughter is born.

(2)  An insurance of Rs. 21,200 to the family of small land holder in which daughter is
born and Rs. 2 lakh after 18 years,

(3) Rs. One lakh to a male undergoing vasectomy after a single daughter.
(4) None of the above.

49. o ¥ Sewerh ey wiiE E i fawa meR aEt derfe 4o 1986 TEd
WWWW@'
(1) HITH (2) wif® (3) @m 4) A

education is the central issue which has been projected as a national priority
in the Natlonal Educational Policy, 1986 :

(1)  Computer (2) Technical (3} Yoga (4) Value

50. (a) <TEE dfeet Hieen o, WREE Afeen s gugd 19.11.2013 s g& wwar e,
(b) AT HENG T 19 WA TR & FHTHRE! &1 Teh 3
(c) WA Tigen =k & MG TUTA FHelel WIH QidwiTE 8 g AR,
it B e aRET 3 ?
Tt 3
1) @ame (2 () (e @) @) @) () (o) ()

(a)  The First Mahila Bank, Bhartiya Mahila Bank of the country was started in Mumbai
on 19*" Nov 2013.

(b)  This is an addition to the existing 19 public sector banks.

(c)  The BMB is the first ever public sector bank to have been set up by the Govt.
Which of the above statements are true ?

Answer options :

(1) (a) and (b) (2} (b) and (¢ {3) (a) and (c) (4) (a), (b) and (c)
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51. @ Yt wivd faum e o ?

(a) M. TH, 3. = S TR T 2014 HE IROW SRR &1 3.8% 91 e |

(b) AT SIhRT el i Iuid dled 3T,

Tt I

(1) (a) w 2) (b) wH (3) A FOES T (4) R

Which of the following statements is incorrect ?

(a) ILO's latest estimates indicate that India’s jobless rate could be 3.8% in 2014 !

(b) Unemployment-seems to be rising in India in the last 3 years.

Answer options :

(1)  only (a) (2) only (b) (3) Neither (4) Both

52. WUt IO FHE! o 96l = AUFEEER C gendt Feeet onfn e’ sfqida
T T8 ?

(a) WA AMA. = / Uy ardid g (b) 9T HE

(c) oTT A (d) e

(e) Fferfer ool () FEawia =G qd

Qi 39

1) (a) % (2) (o) ¥ (d) 3) R (1) () ()

What type of children are not covered under the Need of Care And Protection (CNCP) ?
(a) HIV/AIDS affected children (b} Differently abled chiidren

(c) Orphan children (d} Street children

(e) Iliterate children () Fourth child in a family

Answer options :

(1) (a) only (2) () and (d) (3) (f) only (4)  (e) and (f)
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53. itg S @ ¢

(a) TGS TaD (i Taea

(b) (T HH TBAB (i) FE-FH!
() wr=w 9B (i) @

(d) HEEN b (iv) U
i I

(@) (b) (o) (d)
1) Gy @ @v) ()
(2) () (v) @) @)
@) @v) @) @ ()
@ @ @G) ) ()
Match the following :

(a) Jharkhand Movement (i) Bhil
(b) Adi Samaj Movement (i) Mahato-Kurmi
(c) Khandesh Movement (iii) HO

(d) Mahasabha Movement  (iv) Santhals
Answer options :
(@ (b) (o) (d)
1 G G Gv) ()
(2) (H) (v} @) ()
) Gv) (D) @) ()
@ @ G @ ()
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54. UIE Y THSA FRHERO W 2011 ® 99 STAWEE qa& a4 O Sifed s s fgug
gar?

(1) T G I gt

(2) HaEE AN W g

(3) WIS HEEE IO Sfae waa
(4) UEI Wkl sfur {5

The UN General Assembly declared 2011 as the International Year for Youth with the
Theme :

(1) Mutual understanding and Cooperation
(2) Dialogue and mutual understanding
(3) Social harmony and global peace

(4} Mutual Cooperation and friendship

55. ‘"edlaArEd! A’ g R qo IR ?

(a) wHIF g (b) Hfew qea
(c) SreEforR oo (d) wiEFfE o
FETeRt IV /B0 faem /= ST 3/ 2

(1) (a) 0 {c) erd (@) (b) s () (3) (YR (4) (o) TH
‘Learning to live together’ is a :

{a) Social Value (b) Moral Value

(¢} Educational Value (d} Cultural Value

Which of the statements given above is/are correct ?

{1} (a) and (c) only (2) (b} and (d) onlv (3) (byonly (4) (o) only
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56. 3. W 1975 % O €gFd TP €A (UNO) WATTis! hivel Aem =ietd et ?

(1) wigen qemtsTT ad (2) sidRwgE Higen oOY
(3)  few wareRor o (4) wfgen wEwEEw a4

The year 1975 was declared by United Nations Organization as :
(1) Women empowerment year (2) International Women’s year

(3) Economic empowerment year  (4) Women self-help year

57. WTATeat Siow fau T iR ?
(a) TeaufE faammgR emon w4 et SREm @ Hifa gy 9gg wwd
(by  afvew, wifafeeay, Squl freom=ht s 7yA genfufea faeor g s,
e I
(1) %% (a) (2) ®% (b) (3) = (4) T
Which of the following statements are correct ?

(@) Through value based education can flourish the eternal truth like Sarva Shiksha
Abhivan.

{t)  Schools like Osho, Shanti Niketan, School of Total Education work for value based
education.

Answer options :
(1) only (a) {2) only (b) (3)  Neither (4) Both

58. ‘‘ureior @qifor AnTd weRiged Bl Weruie ST 0 g Rivien eI R AR ?

(1) YNdE 913 917 99

(2) WA gar qufae /e
(3) TEE g F7

(4) 9REE ga 9w g faem

"To foster friendly relations between the rural and the urban people” is the objective of :
(1) All India Boy's Scouts Association

(2)  Youth Hostels Association of India

(3}  Nehru Yuva Kendra

{4) Indian Institute of Youth and Development
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59. W dIFU F7AL

(@) I T
(b)  HrEEl - snfies A
(c; fa&dl da-anfis ar
(d) =refl g=-afid A
TR I

(@ (b) (o) (d)
1y Au) @ @ ()
2 O @ ) (i)
3y () vy (i) )
4) (@v) (i) i) (i)

Match the following -

(a)

(b)

()

(d)

Second five year plan

Fifth five-year plan

Third five-year plan

Fourth five-year plan

Answer options :

(b)
(1)
(ii)
(iv)
(i)

(
-
(

(
(

d)
iv)
i1)
i

ifi)

30 A

Ol T W AT ETE yiaigd AT e
eeacsic |

gt T dard FEF e enfm i
FEHIT TR

THAl @ 9 SRR HgTd wiafAe SR Fgred
THTCHEY]

I F 9 AN €SS Fgd hear FRisE St
TRl

Integration of mother and child health centres
with primary health centres

Integration of public health facilities with family
planning and nutrition

Integration of maternity and child health centres
with primary health centres

Integration of maternal and child health service
with family welfare planning centres.

o=l HIATHEG I / SPACE FOR ROUGH WORK


Admin
Line


A 31 JO4
60. TEIF 2 faumiteT FUR @Y AR 7
(a) TERYHE Ul AreTw Wl SNfaard! Siehi=n qeishdl STIGaTH Hearwre T A =T
G FHL0A AT,
(b) T WA HeSdRes SR nfardt fEg=n Samiel TR FHE At
et 3
(1) W (a) (2) ®F (b) (3) AR (4 =&
Which one of the following two statements is correct ?
{a) Swabhiman English medium schools have been started as one of the Tribal welfare
schemes for the children of tribal people.
(b) Tana Bhagat Movement caused ‘oraon” tribals to imitate Hindu life style.
Answer options :
(1) only (a) (2) only (b) (3) Neither {4) Both
61. & ‘qﬁ'—r faumie! S0 9 2 ?

(a) SIS ST AR ATTOTETE Y WERE AT,

(b)  SUETE! Hehew T UM & WL 9T Tafael .

it I

(1) F9 (a) (2) B (b) (3) R (4) <@
Which one of the following two statements is correct ?

(a) Anutai Wagh popularised the word Anganwadi.

(b) ‘Anganwadi’ is being implemented in rural as well as urban areas.

Answer options :

(1) Only (a) (2) Only (b) (3) Neither (4) Both
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62. YEiE e faurmds) Hivd @Y 3R ?
(a) UG WER=Al qfee d aefaw™ AAaar= (2007 1) GWMYETEE 69% S §
i fearme 98 oA
(b) watd afus e W AT FU=RY 96 9gdm.
T I
(1) &F (a) (2) wEH (b) (3) < e (4) T
Which one of the following two statements is correct ?
(a) According to research conducted by Ministry of Women and child Development
(2007) 69% of children are victims of physical violence
(b) Highest percentage of children are victims of physical violence in the schools.
Answer options :
( (a) (2) (b (3} Neither (4) Both
63. TS wig et wiefledt gomt wigen sifuas (W) quiidde) wvm o Heft 2 ?
(1) TEHEE FHBah? (2) W= Ee
(3) Fgmdt <ol 4) A= T
To whom did Rajashri Shahu Maharaj appoint as a lady superintendent from amongst
the following ?
(1) Rakhamabai Kelavkar (2) Savitribai Phule
(3) Indumati Devi (4) Nancy Wilson
64. TIH TSToguTd HIVR FEATTIR &6 Hearor Gt wemyar w20 sifad am ?

(1) =& =T (= far 9 g @ 2000

(2) = TR (ara A a weper) gala wEe 2006
(3) e Tk WA AT 2005

(4) WEAFREE T T8 2004

To establish Child Welfare Committee in each district is mandatory as per the :
(1) Juvenile Justice (Care and Protection of Children) Act 2000

(2) _Juvenile Justice (Care and Protection of Children) Amendment Act 2006
(3) Commission for Protection of the rights of child 2005

(4) National Charter for children 2004
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65. a1 T I few JrEEt WERE Fido WA TeHHETS werd 45 BY FINA A4
ATAHIEIS GHREON Fell 7

(1) 12 guivda=a 9d qenaia|
(2) 6 auIwiTE W qeEe
(3} 3 14 99 FANERE T4 ot
(4) 14 astrdaet wd q@

Article 45 of the Constitution was amended putting an obligation on the State for early
childhood care and education for :

(1)  all children until they complete the age of 12 years.
(2)  all children until they complete the age of 6 years.
(3) all children between the age of 3 to 14 years.

{(4) all children until they complete the age of 14 years.

66. 1986 NPE =N ivctaciauiged (Aeeiad 91 aF giaer #a,
(1) Tgid wfadt anftn faemdts faeorafid
(2) <A wfidt snfn wreafos foaor it
(3) Tl wfrdt sufr s wf
(4) WUHLE ghrdt enfor sAda wfid

The implementation of NPE 1986 was reviewed by two committees, namely :
(1) Rammurtt Committee and University Education Committee

(2} Janardan Committee and Secondary Education Committee

(3) Rammurti Committee and Janardan Committee

(4) CABE Committee and Janardan Committee
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67. TEHE o farsaest A9, S SRW AfTwaqt FOHt WG TS e / HefaeneTd

foan fovafaereaimsd fwomr e faareiT sfds Teram R e dan s w¢p
HIE e

(1 afie 2007 (2) STER! 2007

(3) e 2008 (4) AR

The National Merit Scholarship scheme, the objective of which was to provide financial
assistance to meritorious students studying from post - matric to post - graduate level in
Government Schools/Colleges and Universities has been discontinued with effect from

(1)  April 2007 (2) January 2007

(3)  April 2008 (4) None of these

68. TR WAEHGA, HEWY 19 A gaer /s 4ae Hiaal.
(1) faen ac s=faem:
(2) TR RO BRI,
(3) UEIERR H frarom,
(4) T IEHH T I |
Identify the motto of Directorate of Technical Education Maharashtra state :
(1) Vidya Tatv Jyotisamha
{(2) Gunsya Bharnam Kaushallam

(3) Rashtrodharay Tantra Shikshnam

(4) Twam Dyanmayo Tantra Dyanmayo si
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69. Sisar .
‘' Te
(a) TS qURTaR T
(b) fom, fna onftr Sush wiea faomwe e a4
(c) HTU HeHTH IR Hlawl
(d) Tem defm ye= anftn w1-92) Aa,
fein foremdt Ao, T TH §1 99N,
IO T AT g IErE He
YT FR0
i I
(@ (b) (o) (d
1) (v) @) @
(2) () (v) @ (i)
@ @ @ (i) @)
@ @ (v @H
Match the column :
(a) Promotion of Quality in Technical Education
(b) Focus on Science, Maths and English education
(c) Computer Aided Learning facilities
(d) Provide resources for addressing gender related

Issues and also provide a platform for
mobilization of strategies like Maa - Beti Melava,
Kishor Kishori Melava, SMC members

and community mobilizers’ training

Answer options :

FHeedT HTITATS A / SPACE FOR ROUGH WORK

(@) () (9 (9
(v) @) (@) ()
(i) Gv) @ (i)
Gy (@) Gi) ()
@ v @@ (@

(if)
(i)
(iv)

(i)
(i)
(iv)

(v)

JO4
‘q' e
TS Ue- . 377 |
- wHdE

HN. TH. TR, T,
T i

&, ST,

NPEGEL - GRC
Quality - MPSP
RMSA
AICTE

KGBV
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. ANAE TiEd QiR BN SR, Fawede 75 HEpias HeH-TeH SRR
WEF AU WEHIdh SR WM HAHIT b 1 3R,

(1) 12178, Hie (2) 1257y, Ty

(3) 1187, Tz (4) 1197, Bl

Since Independence, India’s cooperation with foreign countries in education sector, used
to be part of the cultural Agreements. India has cultural Agreements with

About 75 Culiural Exchange Programmes (CEP) were signed and most of them are
periodically being renewed. __ _. component forms a part of the most of CEPS.

(1) 121 countries, sports (2) 125 countries, education
(3) 118 countries, education (4) 119 countries, sports
71.  Yeter Rl faum Iy e ?
(a) T & Tuffa 3-9mee i r) FTm gy 169 SR,
(b) HEWE T E-WEA Afdat T el & W e Jie ST eaar e gHtd Fe,
Tt 39
(1) % (a) (2)  Fes (b) (@) FOWR AR (4) SR
Which one of the following statements is correct ?
(a)  Andhra is the first state to release a dedicated e-Governance policy.
(b) The Maharashtra e-Governance policy was drafted by a committee under the
chairmanship of Dr.V.P. Bhatkar.
Answer options :
(1) only (a) (2) only (b) (3) Neither (4) Both
72, WETE S A TAY S HAH T Fiedt S HuH e gy wenfid weie aea wu sramEl

(1)  STEHRMETE, Shorhdl, e, T, B
(2) TR, ARFEIETE, ATAN, T, FEHIBE
(3) FerwdI, SEACEIE, HTER, BIAFHS, TEH

(4)  STEHEIE, Ferhdl, ATAR, FEHE, TEA
Arrange the following lIMs in the order in which they were established, the one established
earliest should be listed first.

(1)  Ahmedabad, Calcutta, Bangalore, Lucknow, Kozhikode.
(2) Calcutta, Ahmedabad, Bangalore, Lucknow, Kozhikode.
(3) Calcutta, Ahmedabad, Bangalore, Kozhikode, Lucknow.
(4)  Ahmedabad, Calcutta, Bangalore, Kozhikode, Lucknow.
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73. VIER faem sEel fasiad s 2011-12 916 yamE
aufoy WWHW%WWWWWWWW
améh—w.

(1) 39, FIWE, 99, e
(2) =T, snfefen feerdt, fofm, o=
(3)  WEW, U, g1, TS 989

(4) W, AAEHH, HATIT 01 e AR Tl

In 2011-12, for the first time, the state prepared its School Development Plan with the
help of School Management Committees. Planning inputs with respect to ____

. and were taken from SMCs while developing School
Development Plan.

s

(1) access, skill, age, intelligence

(2) status, financial condition, sex, age

(3) access, equity, quality, community participation
(4)

technology, curriculum, innovative methods of teaching and learning

74. WieladsH! S faum Stet 9w ?
(a) I qATH A TEA FEHH, S ARad Gard Higl T9 YR 39 fae favrmdra
et d HYYU AFFAER FAHAN FEHA TR,
(b) Td A I Fes I= Yarean 3haferi fawaiet (disciplines) Were amefamt o1,
T 3#( :
(1) %92 (a) (2) F9 (b) (3) HE AR 4) <R
Which one of the following statements is correct ?

(a) The National Programme on Technology Enhanced Learning is India’s largest
technical knowledge dissemination programme through ICT in the Higher education
sector.

(b) Tts main objective is to increase the reach of only the high quality engineering
disciplines.

Answer options :

(1) Only (a) (2) Only (b) (3) Neither (4) Both
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75. W g e aTRA.
(a) AL YA A S W e fawfad w,
(b) W TR A FATET Ve Tgdd gre=dol,

it 39T
(1) Hefia e (2) arergETre e fafey
(3) e fareor (4) AT AT

The following objectives are regarding

(a) To develop ‘oasu language and Maths skills in the children.

(b)  To bring these children to the learning levels of age appropriate classes.
Answer options :

(1)  Girls education (2) Learning camps in Balgriha

(3)  Tribal education (4) None of these

76. TR BT fHYTH @ AR 7 N
(a) WRE WERA 7 2008 W& TEE HivA-Hg- e s gt a1 g% el
(b) & AT AT ENET SfdEwEeT FNgdd Wehda faeneAta qeeiHars fireror

Hugraret et 39,
Tt 39y
(1) (a) ®d (2) (b)®H (3) IR e (4) T

Which one of the following statements is correct ?

(a) “National Means-cum-Merit Scholarship Scheme (NMMSS)” was launched by Govt.
of India in May 2008.

(b) It awards scholarships to meritorious students of economically weaker sections to
pursue post - graduate studies. :

Answer options :

{1} only (a) (2) only (b (3) Neither (4} Both

77. (a) fowuirmersen foeor srfharn 3 ORI @ SUTA1 TR A0 9 YHag wisdt 3T
T ITYEAT el A Sfehdel] HHRIcaeh EPaT | I0EH TaR 61,
(b) T HEFBHG AT FHMH Hd arg AF Hhgd TIh¥A FHgd hel .
e I faamite! o grg o 7R ?

(1)  F%5(a) (2)  Ho(d)
(3) (a) & A T (b) T T @) () F (b) AR

(a) The Adolescence Education Programme aims to empower young people with age
appropriate and relevant information to enable them to respond to real life situation
in positive ways.

(b) The Programme is coordinated by the Central Board of Secondary Education.

Which one of the above two statements is correct ?

(1) only (a) (2) only (b}

{3)  Netther (a} nor (b) {4) Both (a) and (b)
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78. w@reid S fgum qg o ?
(a) ST9 Yo UmAra o meafies WO Heard e 2009-10 F9 gead e,
(b) 1O Sefor® ad 9 @ 12 wefte gerr el 10 A 12 <= faagor =4 34
i S
(1) I (a) (2) T (b) (3) G AR (4) SR

Which one of the following statements is correct ?

(@) The central scheme of Inclusive Education for Disabled at Secondary Stage (IEDSS)
has been launched from the year 2009-10.

(b)  The scheme enables the students in their academic years 9 to 12 to pursue studies of
std X to std XII.

Answer options :

(1} only (a) (2) only (b) (3} Neither (4) Both

79, $-TETHEA RIS IVt GIeel aTe i S SR -
(a) TFHAdE Td HH HET [UEUAT TS,
(b) TTEREE @9 9 Iz HH 9.
()  ITIIETT WeH 101 9 TRGYhAl qrgfaul,
(d) ST TR F SARFHARIT IR AT F@,

Wf"«'ﬂ’a?ﬁ':
(1) (a) 3TV (c) (2) (a), (b) T ()
(3)  (a), (c) 3nfuI (d) (4) (a), (b), (c) O (d)

Which of the following are the benefits of e-governance ?

(a) Reducing the cost and improving the reach and quality of public services
{b) Reducing transaction costs and transaction times.

(c}) Empowering citizens and increasing transperancy.

(d) Re-engineering of processes for greater efficiency and productivity.
Answer options :

(1) (a) and (9) (2)  f(a), (b) and ()

(3) (@) () and (d) (4) (@), (b). (c), (d)

THoAT HIHTETS ST / SPACE FOR ROUGH WORK
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80.

40 A

wreflerda st vre derE Sfepd o 2

(a) UHF T ToiaR I AT Wl 3uded S0 (FREE ).
(b} Hem FXugr 3fep FivE wm.

(¢) Wifar=rqul srsarersny et frerTsHmTa ST 0.

(d) TR gfay, JerHTad H wierd TR Hewtd omey it

W 'ST'I.T :
(1) (a), (b) S (c) (2) (a) =% (o)
(3)  (a), (¢} A (d) (4) a0 wd

What are the objectives of the Model School Scheine ?

(a) To have at least one good quality senior secondary school in every block.
(b) To set a target to be achieved.

(¢} To try out innovative curriculum and pedagogy.
{d) To be a model in infrastructure, curriculum, evaluation and school governance.

Answer options :

(1) (a), (b) and () (2) (a)and (0)
(3)  (a), (¢) and (d) (4)  All of the above
81. TERA W fauMitw! 0 Fehe 8 2

(a) UA UH. . 3 HL . § UF A HEw AR W UM I e e JEeri U Wi
(b) Haz 37, 3. 21 A4 ARl 2011 T A RIS TaT TUHT HI0E ST,

aidt 39T

(1) el (a) (2) B (b)

(3) (a) 3 (b) e @ (4) () 9 (b) T

Which one of the following two statements is incorrect 7

(@)  The NMEICT is a mission to provide connectivity, valuable content and low cost
computing devices to all the institutions of higher learning in this country.

(by  The National Video Server was launched at Mumbai lIT in February 2011,
Answer options :

(1} only (a) (2)  only (b)

(3)  Neither (a) nor (b} (4) Both (a) and (b)

FeedT HIHTETS! AR / SPACE FOR ROUGH WORK


Admin
Line

Admin
Line


A 41 JO4
82. weitel S faumide! F1or faum 9w e ?
(@) =¥ 2000 SR ARBHA Ao SR 2001 = TG YHUHKR T T AN & T
2003 1 TA 91 § 3§ € B UH WSS FAHH e HUAN 0L
(b} T FEHET GEIA TGN FW e sfeeye A e e vam s
g I
(1) Has (a) (2) e (b) (3) T(a)T(b) (4) TR (2) 9 (b)
Which of the following two statements is correct ?
{(a) After the Orissa Cyclone in the year 2000 and Guijarat Earthquake in January, 2001
a comprehensive National Programme on NPEEE was launched by MHRD in 2003.
(b) The Programme was launched with the Indian Institute of Remote Sensing as the
coordinating institute.
Answer options :
(1) only (a) (2) only (b) (3) Neither (4) Both
83. HSHl Wiitdlen A A FHEL B0 e Nt RSN TA® wROTAS Gield ST
FHROT FHIE e ?
(a) fTaenetd wimerda fafdem (b) Tt e sfafum
(c) oTidier HalQyet e e (d) orEmg ITHEHA
ot e
(1) (a) A (b) 2 (@ (3) () ¥ (d) 4) (b
According to the Kothari Commission, the large stagnation and wastage in class is due to
a variety of causes which does not include :
(a) The heterogeneity of the age composition of students
(b) Irregularity in attendence of teachers
(c) Overcrowded classes
(d) Unsuitable curricula
Answer options :
(1} (@) and (b) 2 (d) (3) (¢) and (d) 4) ()
84. TEIE S fayumdew! FIUR WG 7 7

(a) A H E IR A 1963 WA U UH & TW UH AISIAT =] e,

(b)  WHHA: AT AT WEAI SR W@ e ARl

a9l

1) FewBa) (2) FawB(b) (3)  HRE (4) R
Which one of the following two statements is incorrect ?

(a) The NCERT started the scheme of NSTSS in the year 1963.

{b) The Social Sciences were earlier not included in the scheme.

Answer options :

(1) only (a) (2) only (b} (3) Neither (4) Both

%Al HINEIE APT / SPACE FOR ROUGH WORK
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85.

42 A

Eia 39 faumitel o faum ' e ?

(a) FF 1961 T W foem SEE e TR LR, | W RuE Sifad F W 9
e 98 €9 1971 799 ufgw,

(b) WA qFER ST [amRS de 24 Wy Gt aEhS a1 TiEe a1
T 27 TR,

Wﬂ'hﬂ' T
(1) Has(a) | (2) FEB(b)
(3) (a) ¥ & = (b) T AR (4) (a) 9 (b) T

Which one of the following two statements is correct ?

(a) Directorate of Adult Education was made a part of the NCERT in 1961 with which
it remained associated till 1971,

{b) The Directorate looks after the non-formal education of the adults though does not
monitor the progress and status of literacy.

Answer options :
(1} only (a) (2)  only (b}
{3) Neither (a) nor (b} (4) Both (a) and (b)

86. TEIEURI LS. sfum WrEwHl R faue gl o ?

(a) oTREE AfufTammeredar Hav SHAFER SRy sTifEa

(b) TR FMTHR [EEr I o fafea o,

(c) ©r fma g gfasht <em 3 3 e o,

(dy aren fafsehivnd fient <, faen fawar, snfi @ = oim gft stream.

i 59

(1) (a) anfor (b) (2) (o) 31 (d) (3) (a) 3 ) (4)  (b) I(d)
Which of the following statements are incorrect about the RTE Anthem ?

(a) It is to spread the message of RTE Act among the public

(b) It has been written by the renowned lyricist Gulzar.

(c} Tt has been sung by Sonu Nigam and Sunidhi Chauhan.

(d) The anthem picturises Priyanka Chopra, Vidya Sinha, Aamir Khan and Om Puri.

Answer gptions :

(1) (a) and (b} (2) () and (d) (3) (a) and (c) (4)  (b) and (d)
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89.

43 TO4

yTefteAtat e S s fnemmeRda s A -

(1) % iy faer wagedl=m et AT F .

(2) % @@, sE o 9 g o,

(3) e 9vveE =W afete 78T e e

(4) T TR FESgd® HEE AW T AHATASAN heA] T

Which one of the following is not the essential characteristic of Non-formal education ?
(1) Itis organised outside the formal system of education

(2) 1t is diversified, flexible and open - ended

{3} Forever membership so no exit or re - entry.
(4) It is very consciously organised and implemented

(a) T AR UME WOTHA o wrarEt fiasd, 99, g 9 9 ool 46id 4 49
FHEA TAPLEL A, T T gEala g, € FrEies e affeist aidarer wuE
W HE T

(b) =R feerear S1a |iHw SR, Wi, IS F 2SO 99 T HIUAT T,

AT S

(1) HAB(a) @) FFB(D) @) (@) T (b) @ (@3 () IR

Which one of the following two statements is correct ?

(a) Regional offices of the Ministry of Human Resources Development GOI located at
Kolkatta, Chennai, Mumbai and New Delhi were transferred to AICTE. These offices
started working as secretariats of the Regional committees.

(b) Four new regional committees have been established at Bangalore, Bhopal,
Chandigarh and IHyderabad.

Answer options :

(1) only (@) (2) __only (b}

(3)  WNeither (a) nor (b) (4) Both (a) and (b)

TR S fa9E T o11g ?

(a) faem enfor d39m 3 q@ favria gen € v faarde o,

(b) 2 foende FIHE SRy AEHA Ied UHd

gt 399 ;

(1) F7% (a) (2 ¥ (b) () FORETE (4 TR
Which one of the following statements is correct ?

(a) North Eastern Regional Institute of Science and Technology is a State University
(b) Tt cannot conduct any of the courses whatsoever under the distance mode.
Answer options :

(1) only (a) {2) only (b) (3)  Neither (4} Both
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90. T A faurdet FHo Fra g )

() WA fawm afrvd= 19 fedam 2007 A andean sigs 11 &1 Aiea @i afo gafas
W YIS FUE UF Fig A S - o Qals uidsRd J2M Sl

by T o RN - eTEd T, 6, 30 S 3, A Sheredn TR B9 S,
TR Y

() FA@(a) (2) FEB(D)

(3) (o) B A (b) A 4) (@3 (b))

Which one of the following two statements is correct ?

(@) The XI Plan approved at the meeting of the National Development Council on
19'h December 2007 places the highest priority on e-governance as a central instrument
in achieving rapid and inclusive growth.

{b} I'he National Development Council accepted the recommendations of the
N.CERT on e-governace in this respect

Answer options :
(U0 only (al (2) only (b}
(31 Neither (a) nor (b} (4} Both (a) and (b)

91. AT a0 S E AT AW -
(1) W1 15%, HEE TPTYE SITESH 15%, U faud 70%
(2) MY 10%, W GENE S1ArEshE 15%, e fmg 75%
(1) WP 15%, TET TS ANAEhE 10%, Tfeed faw 75%
(4) YW1 10%, W TG SITTEEY 20%, UeeE Ty 70%
The Vocationalized course pattern is .

(1Y Language(s) 15%, General Foundation Course 15%, Elective subjects 70%
(2} Language(s) 10%, General Foundation course 15%, Elective subjects 75%

(3) Tanguage (s) 15%, General Foundation course 10%, Elective subject 75%

(1)  Language(s) 10%, General Foundation course 20%, Elective subjects 70%
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92. et faumit! ®Iv gwTe AT ?
(1) = et w e faamdieE! T w9 1985 Wil we.
(2) € wen 3= T et qfad foxive: S gea HesmisiiE.
(3) T ofed & srafew TUER A9 w9 21 TR
(4) I THE L
Which one of the following statements is incorrect ?

(1) The Indira Gandhi National Open University was established in 1985.

(2) [t also provides higher education opportunities particularly to the disadvantaged
segments of the society.

(3) Its first regional office is being set up at Hyderabad.
(4) None of the above.

93, TeATHE TARE TUMHAT THITGE ey O Frsmed qd qrearas e el Fom o
YEH A, T, wETHeED Wmewed = gd gl SuEy SIva SIE AT, & 14+ 4
18+( 3.9 & ¥ 12 o) S99 4. snfor &y  HeR JelflEd heren
S UE foher Ume aife oT9UTaT AT, STUTAT eI ATHHIY - AT, ST g8, IT=id
forfl, sreror € 5.

(1) 9T 19a] (1995), UHE {avasa safaEm (1999).
(2) AT HIERT (1994), TEE favas sfatam (1999)
(3) TG ST (2004), THE fowawd a7 (2006)

(4) AT ATES

Inclusive Education Schemes covers all children at secondary siage of age 14+ to 18+
{std. IX to XII) studying in Government, local body and Government aided Schools, with
one or more disabilities as defined under the and __, namely
blindness, low vision, leprosy cured, hearing impairment, locomotor disabilities etc :

(1) Disabilities Act (1995), The Nationa! Trust Act (1999)
(2) Disabilities Act (1994), The National Trust Act (1999)
(3) Disabilities Act (2004), The National Trust Act (2006)
(4) None of these
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94, TEr@ P fau HiTE aNg ?
(a) WA AYfET AR Y TH T AR,

o
Wy v

(b) HIRR WA HH HI0AET W 85% [T 2015 edl TSvar=) g,

Uy I

(1) w (a) (2)  wH (b) (3)  hiTdEl AT (4 @
Which one of the following statements is correct ?

{a) The following logo is of RUSA.

¢
A W

(b)  Sakshar Bharat has been formulated with the objective of achieving 85% literacy
level by 2015.

Answer options :

(1) only () (2)  only (b) (3) Neither {4} Both

95. ST VR fauT ey g ?
(a) P T OISR (T % W) WA 2005 WA gUEd: whfd el 5 asEaar ; 2005-2010.
(b) & TR T IO A Wi SIvm Ao R
vt 39
(1) 9% (a) (2} %ae (b) () WO AE (4 IR
Which one of the following statements is incorrect ?

(a}  The National Knowledge Commission (NKC)} was constituted in 2005 originally for
a period of 5 years from 2005-2010.

{b) Itis an advisory and a monitoring body.

Answer options :

(1) onlv (a) (2} only (b) (3) Neither {4} Both
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96, Texgra wrEt g eIy TEUAERE RGN SeAqER w0 fa9y #1@8 9 wi) duessaun
4 e feodt angd. e F Sire S

FHrEET
(a) ST T AfHTEH
(b) EHT 9T FEAL
(c) BeI ufdsierer e
(d) o feos 3 fave ool o€ FEE
wargt s
@@ (b) () {(d)
(1) (v) @) () ()
() G (v) (@) (if)
3 @ @@ i) @)
(4) (i) Gv) @) (1)

(i)

(i)
(iii)
(iv)

Huoasauite a4
1961, 1984

1890

1986

1976

To protect the human rights of women, as per the provisions of the Indian Constitution
special acts have been enacted. Match them with their years of implementation.

(@)
(b)
()
(d)

Law of heirship

Act.

Law of equal wages

Law of prohibition of dowry

(i)
(if)
(i)

Law of prohibition of exhibition (iv}

of obscenity

Answer options :

—
r

(b)
(iit)
(iv)
(i)

(iv)

(c)
(if)
@

(i)
(i)

Year of implementation
1961, 1984

1890

1986

1976
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48 A

" wEEE WSRO Y T S 7

(a) T=ffeE smodi=T wwen (by EEVEETCHET TN

(c) Tl T

i I

1) (@) (2) (2 3T (b) (3)  (a) 3 () (4)  (a) (b) 3V ()

What are the basic problems being faced by the SAARC countries ?
(a) problem of Natural disasters. (b) Problem of Terrorism.
(c) Problem of Poverty.

Answer options :

1) () (2)  (a) and (b) (3) (a}and (¢) (4) (@) (b)and (c)

T Tt onfid® wged G9ed el wote faud fammim =,

(a) TUH HeEA TTUAT 1989 HEd @G

(b) TR THHT HEATTH TELT T 3T |

(c) amferm-dfaftre yewma sl fasm™, Fee, SR & [ H0AH JIHe Sl UoF
% it G o,

Fh@U] v/ fagmA strae s ?

(1) (a) SN () (2)  (b) s () (3) (a) M () (4) 9 (b)

Consider the following statements with reference to Asia-Pacific Economic Co-operation
(APEC).

(a) APEC was established in 1989.
(b)  India is the founder member of the APEC.

(c) APEC is the primary organisation for promoting cconomic growth, cooperation,
trade and investment in the Asia-Pacific Region.

Which of the statements given above is/are correct ?
(1) (a) and (b) (2)  (b) and (c) (3)  (a) and (¢) (4) Only (b)
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99, ShureAn gaeht devld TEIotH ®Ivd TE il (04 AR TG 7

(a) ToNd FTH FLUTAT HEA] AqA qTE

(b) G I =AA =1 gh

(c) Halfew TSR daes FHIEE qeTa 942

(d) erfueaeh! @A TFF

wargr I

1) (@ =) (@) (b)) (3)  (a) 0T {¢) (4) () sulvi {d)

With special reference to the rights of prisoners which of the following are not the puiscaers’
rights as yet.

(a} Increasing the wages who are employed within prisons
(b}  Right to equal and fair treatment

{¢) Meeting spouse in the jail as a matter of marriage right.
(d) Right to freedom of expression

Answer options :

(1) (a) and (b) (2) (b} and (¢) (3) (a) and (c) (4} (c) and (d)

100. <fegor anfyrrd fAumiig See (Qih) &1 @91 a1 §q7 a3 ?
(1) gfem snferang Jendies wrfes serfafal sawe w0
(2) sEwte oY, arfas anfon wiepfas fasmam o s
(3) @l <=l
4) e uFE TR

South Asian Association for Regional Co-operation has been established with a view to :

(1) To make collective self sufficient South Asian countries.

(2) To increase economic, social and cultural development in the region
(3} Both the above

(4}  None of the above
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101, HqH I AR arad e e widftetst sivd s8me oma 7
(a) T@EHIET FANT I EVAHIS TIA L0t
(b) aTEH HEG 7 Qam
(¢) TSEH A TS S0
(d) e fasm o
(e) WIOHIA HiGhide aHi®he B8 [0
FHEHT B/ faueA aOET ad ?
1) (@), () ) (e) () (b), (c) (d), (&)
(3)  (a), (b} (), (d), (e) 4) (@) (b), (c), (d)
Which of the following are the objectives of the United Nations International Children’s
Education Fund ?
{a) To strive for all-round progress of the children.
(b) To provide healthy meals to the children.
{c) To keep the children in good health.
(d) To Educate children.
(e} Tolook after the cultural aspects of the children.
Which of the statement/s given above is/are correct ?
(1) (@), () () (&) (2)  (b) (0 (d), (o)
3} (@) (b) (), (d), () (4)  (a), (B) {c). (d)
102, ‘THIEF' A7 GoAw 68 39 FOUHR YSISTHR] Hiocal & waid Teeay] w e o,

(a) <EUAEATR (b) ITCTIAEATHIY HIEW
() STSHAST HL! (d) Texar et mam
ugta Iy '

(1) @37 ()  (2) () (d)  (3) (a) ST (0) (4) (@) =007 (d)
The most important fields of Work of Economic and Social Council (ECOSOC) under
article 68 are in following fields :

(a) Terrorism (b)  Protection of Minorities

(¢)  Child Labour Problem {d} Commission on the status of women

Answer options :

(1) (a) and (b) (2) (b)) and (d) (3) (a) and (c) (4)  (a) and (d)
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103. EOE faym faamrs =

(@) 6 A 2001 AT HRY T TG T STERTE LT At

(b) T[N ¥ HIATHIS o WIET B STE T SR qiee T 2.

e Yot wromsdr faurA seR e ?

(1) ™ (a) (2) @ (b) (3) (a) 3T (b) (4) ATEHT AR

Consider the following staternents :

(a) Maharashtra State Human Rights Commission was estabhshed on 6 March 2001.

(b) Gujarat is the first state in India, to establish State Human Rights Commission.

Which of the statement/s given above is / are correct ?

(1) Only (a) (2) Only (b} (3) (a) and (b) (4) None of these
104, STfas o7 A Sl §oA=AT 2002-2003 = FFAOTHR SIS Faid SR FUIad Sioredl T

et 2

(a) TSI A0 GrferedT (b) sfasfitrar snftr SR

(c) e ST A (d) v st <

it I

(1) @amE @ Game @ @AME (@) (@)

As per the report of the World Food and Agriculture Organization of (2002-2003), which

of the following nations had the highest malnurished ?

(a) Bangladesh and Pakistan (b} Ithiopea and Indonesia

(c) Nepal and Nigeria (d) India and China

Answer option :

1) @and(® (2 Gand(© () (and (@ _ (4) (a)and (d)
105. '6F’ Hued=1 Heuld @it faur fa=i =,

(a) TR TUTT 1985 Hel FE.

(b) VI o ¥ T TS e werafea 8N,

(c) HT& HHe T geA ¥ ‘' < aiirars Sy wem w0’ 8 o
FheTE! FoAT faur/A SET sTRAA ?

(1) (a) =T (b) (2)  (b) 3 (c)

(3) (a) S0 () (@) AIHRT HIRE R
Consider the following statements with reference to SAARC :

(a) SAARC was established in 1985.

(b)  Shashi Tharur was the fifth Secretary General of SAARC organisation.
(c) The main purpose of SAARC is, “To promote the welfare of the people of South

Asia”.
Which of the statements given above is/are correct ?
(1) (a) and (b) ) (b)and (0
(3) (a) and (c) (4) None of these
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52 A
grote faur fa=mm =1,
(a) Hfon g w@as 7 115 faeaie cu=n feauauie o surwmd yfafeiE som
TBID AR,

(b) fow Ty w@FwE! deel et gt F 49 a,

(c) fshear aTfed Ty Tesaci=n HewllTa € 3%,

F{iete! A faum/q seR A 2

1) (a) S (b) @ G @) @A @) F )

Consider the following statements :

(@) TheNon - Aligned Movement is a movement of 115 members representing the interest
and priorities of developing countries.

(b) The First NAM Summit Conference was held in Cairo.

{c) Pakistan is the Founder Member of NAM.

Which of the statements given above is/are correct ?
(1) (a) and (b) @ ®Gand(@  (3) @and(©  (4) Only(b)

WSS S fau™ Geg SR ?

107.

108

(@) 10 feder 1948 U WY pied1 ARIEAFHE WA gEl Afyas SIERA fEwRvan

(b) A gehien Af¥oreh TERAME! Tl Qe WA FETRNS 373,

T I

1) F% (a) (2) T (b) (3) =R (4) =R

Which one of the following statements is correct ?

(@) On the 10 December 1948, the General Assembly of United Nations Organisation
adopted the Universal Declaration of Human Rights which is addressed to the
member states of the United Nations.

(b} The Universal Declaration of Human Rights is binding on the member nations.

Answer options :
(1) Only (a) (2)  Only (b) (3) Neither (4) Both

. T9%® Hoe-A U fdben ais dedl Hofad soen Sema afie e e,

(1) Wik, e, miwwar, st

(2) AETRE, afewr, {5, arery

(3) it qifwwam, e, fnst

(4) 9R@, Gfeear, TE=RE, SR

Choose the correct group of one time or the other suspended nations of the Commonwealth

of Nations :

(1) Malaysia, Uganda, Pakistan, Nigeria
(2) Afganistan, Pakistan, Fiji, Bangladesh
(3) _ Nigeria, Pakistan, Zimbabwe, Fiji

{(4) India, Pakistan, Nigeria, Kenya
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109. TErSU! A SFH A GHISE 220 ' 367 U1 T30 7

(a) TFAUR (by oY

GERESE (d) 9=

T I

W @& o) @ EF (@) @A (@) ()T (D

Which of the following can be classified as socially handicapped ?

(a) Deaf and Dumb (b Orphan

{c) Deserted Women (d} Lunatic

Answer options :

(1) (a) and (b} (2) (b} and (c) (3) () and (d) (4) {a)and (d)
110. T TEHEEA T STHEH S0 R4 ?

(a) FRS(F T2 (b) TR AT

(c) e whwg (dy fegwen ufiwg

qgidt S

(1} &% (a) (2) WF (a) I {b)

(3) () (o) 30 (c) (4)  (a), (b) =T (d)

What contributed to the establishment of the United Nations organisation ?

{a) Atlantic charter (b} Moscow convention

(c)  Yalta conference (d} Vienna conference

Answer options :

(1) Only (a) (2)  Only (a) and (b)

(3) (a), (b) and (o (4) (@), (b) and (d)
111. ESSTH! S0 o a1 ?

(a) TIEH TP G TS| UidAH AR S 9o3l TR aTqie ST,
(b)  HYH TP YA @ A Fafd wH G AR SHTareidl HT,
@R HIvE/ A faumA swET AR

(1) % (a) (2) *% (b) (3) el e (4) TR

(@) In the Security Council of the United Nations China has used veto power right
maximum times.

{b} USSR has used the Veto power least times in the Security Council of the United

Nations.
Which of the above statements is/are correct ?
(1) Only (a) {2) Only (b) (3) Neither (4) Both
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112, ¥ wifgd! svEmEed et gentd U sitear
(a) wfedrar axfirenr rfafEm 2005 w1 o gt S mfedt e ot R,
(b) T TerRueA WewAr AIEd! ATTHIA TV FLAT.
(c) fEd! sFrgehian FRI®E 5 I4 AT FAT=AT 65 FTUMTHT ITH4L.

(d; BYAT Hifedl GBI TSTE HLAH WA Fha TR TEEa HatE ARl

srfimma faammE .
e T
W @ | @ ©3F
@) QTP (4) A} FIOAE A

Identify the incorrect statement about the Central Information Commission :

(a) Chapter three of Right to Information Act 2005 has the provisions for the Central
Information Commission.

(b) President of India appoints the Information Commissioner on the advice of the Prime
Minyster.

{c}  The tenure of Information Commissioner is 5 years and upto the age of 65 years.

(d) While terminating the Information Commissioner the President takes opinion of the
Supreme Court about the misbehaviour or inefficiency.

Answer options :
(1) (a) incorrect {2) (b) incorrect
(3) (d) incorrect (4) None of the above
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113. Gai= AR HF6E! gREEd MEe gee o feae ok JeEmea @ s Sz
(a) Ffedt gt foeg fue. gl () P AR T drEeed] AT HIEH TREH

REkis
(b) W vk el favg el saeeam™ (i) et WA SETEeE JEeH WIS
(c) ¥gd Vel (a8 a8 TN (iif) A TRl THUATE TEF

d) o favg @l T o (iv) STRIdIe S WS § Jont aud
gt 39y
(@ {(b) (& (d)
(1) (i) vy () ()
(2) (v) (i) @) @)
(3) iy () (iv) (D)
) @ @) () ()

Match the correct pairs about the famous trials of the Supreme Court regarding Human

Rights :
(a)g Nandeeni Satpathi V/s P.L. Dani (i} Compensation to the mother of the
dead for being beaten by the Police
(b) Prem Shankar Shukla V/s Delhi (i) Compensation against the
Management violation of Individual freedom
(c)  Rudul Shah V/s Bihar Government (iiiy Permission of appointing lawyer to the
accused.

(d) Saheli V/s Delhi Police Commissioner (iv) Cuffing the accused (putting the
handcuffs) is a despotic act.
Answer options :

{a) (b) () (d)

(1) @) (v) @) ()
(2} (v) (m) () (i)
(3) ) (@ @v) (1)
4y @ ) (@) ()
114. ‘T ReaR ATE HVe GEAEY A SO TRUHEN g SRR e SeSaEnar gue
HITIAT 3T ? o
(a) e wmEn (b) AR G FEEHF TAST
(c) oD HE (d) THITUN
Taidr 3

(1) (a) 7 (b) (2) (@) ¥ (o) (3)  (b) 3ol (d) (4)  (c) 31 (d)
As per the survey of “TATA Institute of Social Sciences” which are the most severe problems
faced by the Aged People ?

(a) Financial problems (b) Health and medical problems

(c} How to spend the time (d) Loneliness

Answer options :

(1) (a) and (b) (2) (a) and (c) (3) (b)and (d) {4) (c}and (d)
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115. (RTee! HU WEd | wa?aqfaqmmfaﬁm%a?

(1) affRies, i), @89, fafsim

(2) <=, qa, qifwe, e

(3) =g, fee, feRan, s

(4) wre-Usfew, sifaien, weemm, 7"

In which of the following cities are the authorised offices of the United Nations ?

(1}  Washignton, Mascow, London, Beijing

(2}  Tokyo, Mumbai, Madrid, Delhi

(3)  Newvork, Geneva, Vienna, Nairobi

{(4) Los - Angeles, Brasiliya, Kolkata, Paris

116. 43w TEGETA AEHI 16 fedat 1966 st wHd! FwiamEa fasmreed TElacasHd Teioia!
T faym i,
(a) 3t wrfrek anfor Aiepftr gwi= Aoy w18

Tt 3y
(1) () &AM (b) T (2) (a) Fl¥ (c) T
(3)  (a), (b) & (c) F=R (4) ¥ TN

Identify the correct statement regarding the covenants adopted by the UN General
Assembly on 16t December 1966 on Human Rights. .

(a) International Covenants on Economical, Social and Cultural Rights.
(b) International Covenants on Personal Liberty and Right to Vote.

(c)  International Covenants on Political and Civil Rights.

(d)  International Covenants on Religious Organization Rights.

Answer options :

(1) (a) and {b) are correct (2} (a) and (c) are correct

(3) (a), (b) and (c) are correct (4) Al are correct
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117. UM A & SEET Stae o goeid! e weorar A Ereiets! v aTHaTd ?

(a) SIFHHY=T FHITE (b) IR ITHHT!
(c) Orraud faudl vg (d) TET foedt v T
() ST TEFHAl (f) RIS JagE

(g) HHS SHeaon wat

Tt w0l faum/A Se o7R/d ?

1) (@), ) (d). &) @) () (@) (6, (8

(3} (a) (b), (c), (d), (e), () 4 (@) (), () (d) (&) ()

Who amongst the following form the selection committee to elect the President and
Members of National Human Rights Commission ?

(a) The Chairman of Loksabha (b) Vice Chairman of Rajyasabha
(c) The opposition leader of Loksabha {d) The opposition leader of Rajyasabha
{e) The Home Minister {f) The Prime Minister of India

(g) The Minister of Social Welfare
Which of the statement/s given above is/are correct ?

(1} (a), (o), (&), (B 2) (b)), D (&
(3)__(a), (b), {c), (d), (e), (f) @) (a), (), (©), (d), ), (g)

dbwwmmmﬁwmmmwwmmm?
(a) STiEATT=N FEw TPERER U5 ey fqefad w
(b) foFm, T9H, SR, [aavE, T o S Heshid arefao!
(c) WTHISF & With{as A JEIvaEEd TId HLr
(d) STEET PR HE Sy Feit 0

Tt SRR faaEA a0t ea ?
(1) % (a) 2 (a), (b) ¥foT ()
(3)  (b), (c) 3nfor () ) (a), (b) 3701 (d)

Which Policy of India about ASEAN nations is identified as ‘Look East’ ?

(a) To develop political relations with ASEAN member nations.

(b) To increase co-operation in areas of science, technology, trade, investment, tourism.
{c) To strive towards enhancing social and cultural atmosphere.

(d) To establish defence relations with ASEAN nations.

Which of the statements given above is/are correct ?

(1) (a) only _ (2) (a) (b) and ()

(3} (b), (¢} and (d) (4)  (a), (b) and (d)
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119. FTF AT goRT= TR Hee FOUI WIoTeuHh! Fra T 378 2

(a) E MY FHATT YAl 9 gEhE) AT ST WA TR

(b}  FHIUCATE FTedld HEIE F HIA W IHE goiH ATHSR 9 W TR,

(c) TCHRTE Sifaq T TIfor ST g o,

(d) FHFRE (il 3 gayen YRy 85 F 3R,

Fi@dF! Fe/d faumA ateT se/a ?

(1) % (a) 2 @EafE @) @ @) ()

Which of the following statements comprise the First Article of the Universal Declaration

of Human Rights ?

(a)  All human beings are born free and equal in dignity and rights.

(b}  Everyone is entitled to all the rights and freedom without distinction of any kind.

(c)  Everybody has the right to life and security.

(d) Everyone has the right to forbid slavery and servitude.

Which of the statements given above is/are correct ?

{1}  Only (a) (2} (b) and () (3) (b)and (d) (4) (c) and (d)
120. To Tt W fedemn fan Tio-Te{ER 12 fSown @i wrsa auTe 9ee HHITER

(F¥F 4 Free) T @ HE ol

(a) TeTHH & SNSuIrgl §ah

(b) Tl ST Gal F Fleesid] 86

(c) S @ e, T 9 Qg T
(d) garg ferRomEl gw

T FH
(1) {a), (b), (c), (d) 2) (o) (a), (b), (d)
(3) (), (b). (@) (d) (4) (d) (@) (c) (b)

Arrange the following rights of the children agreed to by the United Nations, in accordance
with the ascending age.

{a) Right to play and frolic

(b) Right to good health and care

(¢)  Right to be registered immediately after birth, Name and Nationality
(d) Right to proper education.

Correct ascending age :

(1) (@) () (o), (d) @) (e @ (0, (@)

(3} (c), {b}, (a), () @) (d), @) () (b)
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121, GEE T SR g FaT w7

(@) U ST QU ge (e sieeE S S fethw) Tt foeei o,

(by A FHEH hieq A a1 faeeiid 3.

ugidt T :

(1) 9% (a) (2) %% (b) (3) T @ A

Which one of the following statements is incorrect ?

(a) National Institute of Social Defence (NISD) is located at New Delhi.

(b) National Crime Records Bureau is located at New Delhi.

Answer Options :

(1) Only (a) (2) Only (b) (3) Neither (4) Both

122. GEEiodst SR faur are ang ?

(a) FEW AIB Va1 T Tt o Al SAawd %, 21,000/ - vofa A1 0@ ST FEade
TIIURE TG Fh 6. 400/- 0! T aeers &y fHad,

(b} T ASHIE 60 TUIET NfuF o9 1TSS FRIER = R,

iy I

(1) % (a) (2) ¥ (b) (3) =T @ =&
Which one of the following statements is correct ?

(a) Pension amount for the beneficiaries with annual family income upto Rs. 21,000/-
in the Shravan Bal Seva Rajya Nivrutti Vetan Yojana is Rs. 400/- only.

(b) Destitutes above 60 yrs. of age are eligible.
Answer Options :
(1) Only {a) (2) Only (b) (3) Neither (4) Both
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123. WOGIET R faum srEa a2

(a) AT SIE TATAT 12 T 22 =1 961 SNl el MeweeAT WEEl 2.

(b) o FTooma wiSeR! IFie T,

(c) Y AfgeT Q= T A e,

(d) TIFT 1975 AL 9gAYEY YEERR TS SR ST

(e) oI Wrefvaro ufivd=ar sTeast gre.

() & g & e afeden steaan gan.

i I

1) % (@) @) (@i @) At @

Which of the following statements are incorrect ?

(a) Durgabai Deshmukh was the Principal of Balika Hindi Pathshala from her age of

12 to 22.

{b} She was a leading criminal lawyer.

(c) Andhra Mahila Sabha was founded by her.

{d) She was awarded Padma Bhushan in 1975,

(e) She was Chairman of the council for Adult Education.

() She was Chairman of the National Council for Womens Education.

Answer Options :

(1) Only (a) (2) (d)and {e) (3)  (b) and (c) (4)  Only (f)
124. @it [FarAET Sow e % ?

(@) o18 v ‘wrEfe’ @ e Jd ST s AR

(b) eI AT THidices o IR IUMEEIA TARYHE He & AE g TR e o
Teifern gafaet g,

Tt I

(1) %9 () (2) 2 () () I (@) TR

Which of the following statements is incorrect ?

(@) ‘Phailin” a term in Thai language means disaster.

(b} The previous cyclone to hit the Indian subcontinent in Bangladesh was named
Mahasen by Malaysia.

Answer Options :
(1) Only (a) (2) Only (b) (3) Neither (4) DBoth
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125. e fauFS! HioH T 3med ?
(a) 1990 =0 U Hfgell STEN FREIAN &g qeht MERE Feaar= 9 qeeiis] e
T ST AR Sl i SEEiEet TEie ST,

(b) UH SIHiaa T @ GOy FY =d SHEIrE SHEIY g

i I

(1) %9 (a) (2) FaB (b) (3) <= TRNR (4) qrl

Which of the following statements are correct ?

(a) According to the National Commission for Women Act 1990, out of the seven
members nominated by the central government at least two seats are reserved for
scheduled castes and scheduled tribes.

(b) One has to be from SC and the other from ST.

Answer Options :

{1) Only (a) (2) Only (b) (3) Neither (4) Both

126. @rte faumidet o @Y o ?
(a) 2013 HHiE M A IHIARAE FAGF o fhelog a1 uEt F.
(b) fretoE <fE steaifesd AemmE k.
warEr I
(1) 9% (a) 2) Fa@ (b) (3) HTETE! At (4) <4
Which one of the following statements is correct ?
{a) Philippines was the most affected country by Typhoon Haiyan in 2013.
(b)  Philippines is located in Southern Atlantic Ocean.
Answer Options :
(1)  Only (a) {2) Only (b) (3}  Neither {4) Both

127. Gl Tt FI0R 9T 1, S, €. 1995 SHEEmEd Ty FA AR 2

(@) s (b) et g

(c) fexaom (d) AHREE SR

it 3

1) ®F (a) (2)  (a) ST (b)

3)  (a) (b) =f (d) (&) =a it Siod T
Which of the following disabilities are not included in the PWD Act 1995 ?
(a) Low vision (b) Mental retardation

(c) Hearing impairment (d) Mental illness

Answer Options :

(1) Only (a) () (a) and (b)

(3) (a), (by and (d) (4) None of the above three
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128. @] FI0W faum qrg e ?
(a) ATEE HiR G v AT FIRyE S S
(b) fai STias 73 11 Hofed,
ugtEt I
(1} F9F (a) (2)  HAB (b) (3) eI A (4) I
Which one of the following statements is correct ?
(a) The International Labour Organisation was established as a part of the Treaty of
Lisbon.
(b} Tt ended the World War Il.
Answer Options :
(1)  Only (a) {2)  Only (b} (3) Neither {4) Both

129, EEASTE Fivd fagm T o ?
(a) FSEHEH gy e dfyaym foramst 9o 2002 789 WS .
(b) WHLT FASS D HT 1999 = FIEFR DIFIhiaread] Saiaviy Far=a1 AR Saew

Wﬁﬁ?ﬁﬁ\':
(1) %% (a) (2) FF (b) (3) Trer A (4) T

Which one of the following statements is correct ?

(a}  Second World Assembly on Ageing was held in Lisbon in 2002.

(b)  The logo design was an adaptaticn of the logo of the International vear of Older
Persons 1999.

Answer Options :

(1) Only (a) (2)  Only (b) (3)  Neither (4) Both

130, W@ FOW fo€H T e ?

(a)  Famet FTE (T anfin ffet) gt = s o o1 Sar 30 fahan sifas

(b)  Fiel TR HTET A Sl D ATE Sa1d e 21T [y fhal gmft @Era 27,

it 3

(1) %% (a) (2) W (b) (3) SR (4) =

Which one of the following statements is not correct ?

{a) The Contract Labour (Regulation and Abolition) Act is applicable to those units
employing thirty or more workmen.

(b) The Contract Labour Act is not applicable to the units where the work is of

intermittent or casual nature.

Answer Options :
(1) Oniy (a) (2)  Only (b) (3) Neither (4) Both
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131. ‘' aregvAan 71 iy TArenn A U S1EAd o oA & g3 S vamrel ey el AR W
A G TR W L. AP B € faum et Fn e 2
(1) . IR gl 2) . I" TR
(3)  HEreH Et (4) dHfed HeA Higd drerea
Who said, “Untouchability is a gangrenous limb of Hindu Society and if measures are not
taken to remove it, the society would become crippled... it will ultimately perish”.
(1) Dr. Babasaheb Ambedkar (2) Chh. Shahu Maharaj
(3) Mahatma Gandhi (4) Pandit Madan Mohan Malviya
132. WSS HIR G Perlo R 7
(1) g% Wl oin =i sl afieel 2008 Wl WiHRS
(2) Hq® UgieN SfeRrd gy feel gata sifue wen A1 arsiay wed AR
(3) ¥ 2] S IAHMIS 9 T HHE g8 HUL THAT AL,
(4) oTYT AHEETT EHHIA M GURA - ' TgERrE o @ et g
Which one of the following statements is incorrect ?
(1) The convention on Rights of Persons with disabilities was adopted in 2008 by the
UN.
(2) It had the highest number of signatories on the opening day in the history of a UNs
convention.
{3) Itis said to be the first comprehensive human rights treaty of the 21% century.
(4) It changes the perception about the persons with disabilities as “objects of charity”
to “subjects with rights”.
133, 3MAWEE Afas Hoe UF, 374, /TSH 01 HEAE sTrHat qigced] AarsEed B9 e

(a) TA. 34 ./ Ugd = TUR J@.
(b) et el ST vIEl X w7,
(c) rHia HTHIRIST T@HIA AU i1 ITHL Q0.

T 39N
(1) e () SRS 3T, (2) otd wd faur sl s,
(3)  (a) T (c) T MEA. L (4) R (c) SR AR

The ILO code of practice on HIV / AIDS and the world of work provides guidelines for the
following areas of action :

{a) Prevention of HIV/AIDS

{(b) Elimination of stigma

(c} Care and support for infected workers.

Answer Options :

(1)  Only (a) is true (2)  All the above are true

(3) (a)and (c) are true (4) Only {c) 1s true
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134. @ fayrmea faan &1
() ST SHHT FAGT 1995, 1996 WL HAfefad HTvama shw.
(b) MR &g, WA A1 @i AT SEERRE 91e) e AT
(c) o FEEHE FErd UKDl TH T MGH M0 WaF AW Thl ST 1qe

FUA S SR,
(d) T TIH hINER! aTed SfHER .
it 6T
(1) =io 9d faum sl . (2} T (a), (b) AW (c) TS 3714,
(3) T (d) T AR, (4) T {c) FU 3R

Consider the following statements :

(a) The Persons with Disabilities Act, 1995 was notified in 1996.

(bj It enlists responsibilities which are placed on central, state and local governments.

(c) The act provides for a Chief Commissioner at the central level and a Comnissioner
in each state.

(d) The Chief Commissioner has the power of a criminal court.

Answer Options :

{1}  All the above statements are correct (2} Only (é), (b) and (c) are correct

{(3) Only (d} is correct (4) Only (c) is correct

135. TEAUH! HION (U T S

(1) TSI RETR &7 STy, anHifsis I g HeHiehol Waeard gt weiE e gt g
THTAY HTTATeA] I, ITHAIG! 3. T Heo <al.

(2) HEIFH = 9 RO WA qrmE |1 T, se¢ arme arten gapftentomanst
w0 ST, THaie w0 9 FrlHar S R s,

(3)  HATAT STHOITH B4 ol WaTH o SeTseR! AIfas =7 9 Garieior TaerIrer TR,

(4) oToYSEHIEHRTA] HEHTHRIN (FEATH) AAEE IS A1 9 GeHERT0 HATETE
3Te.

Which one of the following statements is incorrect ?

(1) The National Backward Classes Commission tenders advice to the Ministry of Social
Justice and Empowerment in respect of inclusion of castes, sub-castes etc. in the
central list of OBCs.

(2) The Backward Classes Division in the Ministry of Social Justice and Empowerment
looks after policy, planning and implementation of programmes for empowerment
of OBCs.

(3) Ministry of Social Justice and Empowerment is responsible for empowerment of
persons with disabilifies.

(4)  Ministry of Social Justice and Empowerment looks after welfare of minorities.
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136, Wee < faaFiSt FI00 sHE 311 ?
(a) YRAWIT HIEHl WVAR TEHTHRI S T A, Tieedial A1 HIFT Hider= g

e

(b) TR FHIBUTAT WONE AR T 1972 A Aol 7 1 figeam wifdm @i fendfies
e faet= e,

Wf'éﬁ?.ﬂi‘:

(1) e (a) (2) Ha® (b) (3) G AE (4) T

Which one of the following two statements is correct ?

(a) The nationalisation of coal mines was done in two phases the first was that of
non-coking coal mines.

(b) The coking coal mines were nationalised in 1972 and merged into Hindustan
Coking Coal Limited.

Answer Options :

(1) Only (a) (2)  Only (b} (3) Neither (4) Both

137. QGIOTGUH] S faum FTg o1e ?
(a) UH FHIR Foed TV ' q' (TE, 3. T=q, T.) A1 WE=H Fvil 1982 | FIAW 1.
(b) & e feaiEt Fee gt ASTiwiE R,
gt I
(1) ¥ () () W (b) (3) =T (4) =
Which one of the following statements is correct ?
(a) SEWA was registered as a trade union in 1982.
(b) It is an organisation of poor women for full employment

Answer Options :

(1)  Only (a) (2)  Only (b) (3) Neither (4) Both
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138. T -fuar sufm 4y i et s s sifafay (2007) 7691
(@) ‘'R EURR TerT, e, STeverRi g SNy A,
(b) ‘e’ TEUISl g Taen ffen T svn aref g AL
() ''HYANIGE’ IS WIS auial fRan wnden sifud aaran SiviE awdg i
(d) ‘‘Treig’ o1 Tehoqd deeh Y STERIET GHISY B,
qgrt I
(1) e (a) S 3R, (2) W (b) T S,
(3)  RF (¢) IO () TAR TR, (4) T (a) A0 (d) T TR
According to Maintenance and Welfare of the Parents and Senior Citizens Act 2007 :
{a)  “Children” includes son, daughter, minor grandson and grand daughter.
(b) “Parent” doesn’t mean adoptive father or mother.
(c)  “Senior citizen” means any citizen of India who is sixty years and above in age.
(d) “Maintenance” includes medical treatment.
Answer Options :
(1)  Only (a) is true (2)  Only (b) is true
(3)  Only (¢} and (d) are true (4) Only (a) and (d) are true

139. @ietel [FUmitET Hivd @ T ?
(a) AR WE Fofede fEgms] qEailyr Susgr= yHre G g STe sro
() Toran e SEH gy i 1id ST gEuel faee Fan.
(i) == e gAffare #id .
(i) Feaia smgm geuian sifys s,
(b) T 1991 W& Avey Meredn faran TEuiden g die.
it 3T
(1) %49 (a) (2) &9 (b) (3) SRR 4 T
Which of the following statements are incorrect ?

{a) Incidence of widowhood is much higher among sixty plus females in India than in
males as :

(i)  Women get married to men older by several years.

(it} Most of the women do not remarry.

(i) Women live longer.
(b) In 1991 there were two times as many widowed females as widowed males.
Answer Options :
(1) Only (a) (2)  Only (b) (3) Neither (4) Both
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140. WEGUH! FI0 faum g AwE 2
(a) ST AMAT1999 Tt FLg el widd YO e,
(b) I [ERRIE YEATd HeTeH Meiear 120 =1 s&d! fet Fet g,
ugiet I
(1) WF (a) (2) FF (b) (3) = (4) <R
Which one of the following statements is incorrect ?
(a) Baba Amte received International Gandhi Peace Prize in 1999.
(b) The prize was launched on the occasion of 120t anniversary of Mahatma Gandhi.
Answer Options :
(1)  Only (a) (2) Only (b) (3) Neither (4) Both
141. @i v faumt @ i amed ?
(@) Vg IRFg fam TS At S STEREl @9 e S awe Yo 9ud
%, 100/ - ATYHTE AT SR &, 1000/ - FTH GATH Gag! el Sl
(b) TONANIS ITARE G Tehl U9 Hewg Hramehadl &, 30,000/ - AT Sl
(c) TITEA T W : g 80% T WA 20%
Tt I
(1) (a) T (b) (2)  (b) 3 () (3)  (a) ¥ (c) (4)  (a).(b) T (c)
Which of the following statements are correct ?
(a) Rashtriya Swasthya Bima Yojana provides cover for hospitalisation expenses.
Transportation charges are also covered upto a maximum of Rs. 1000 with
Rs. 100/- per visit.
(b) Hospitalization expenses are covered upto Rs. 30,000/~ for a family of five.
(c) Govt. pays the premium : central 80% and state 20%.
Answer Options :
(1) @and(h) () Mand© () @and( @) (@) (b)and ()
142, Greitel foHEideRt HIoR @Y Rl ?

(a) ‘& W= AF Toey Taogd R’ (ST SrereRi fredt) e 3 2014 =1 wfag Fe
Y e - e A

(b) S FFTEE A 2013 WL ITHg el W YitdH B - S YEE aeie Hearl.

T I

(1) Fa% (a) (2) %D (b) (3) TR AR (4) dr

Which one of the following statements is incorrect ?

(a) ‘The State of world’s children’ report has been published by the UNICEF in 2014
with a title - Children with Disabilities.

(b)  That published in 2013 had the title - In Numbers every child counts.

Answer Options :
(1) Only (a) (2)  Only (b) (3) Neither (4} Both
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143.

68 A

T UG A (U TrETE) el Gt SivmeET ErE W) el W ?
(a) el FEamwta Afee wewET= AP

(b) TR FEATTA T AT FTIRT ST el AEER

(c) R el Fgerdie SI8 T WERITA AEaT

(d)  emedt FAE hIvETE TEY YEATsd] ANaras

g 39T
(1) (a) S (b) TET 3T (2) () TR TR
(3)  (b) SRER MR (4) HEH (a) SER R

In the Pradhan Mantri Gramodaya Yojana (Gramin Awaas) the allotment of the house is
made in the name of .

(a) Female member of the beneficiary household.

(b} Both husband and wife from the beneficiary family.

(¢)  Eldest male member of the beneficiary household only.

(d) Any male member of the beneficiary family.

Answer Options :

144.

(1) __(a) and (b) are right answers (2}  (c) is the right answer
(3) (b) is the right answer (4) Only (a) is the right answer
TMeiles FATSTeId FI @Y ATE ?

(a) T AT ST SR e AEdS A7 aey FAvAME et 43 Ted: 1969
T e el

(b) TSite YR wAGYH FreA F WA ASHISHE T T aTHE o

(c) 3 AWML 1980 WIS YU FI0ATT e,

(d) 1991 74 B g YRS O 7 Mefe-Esi ¥ B[ HeEs .

() 1991 TA guRS ol g3 vy faviy sfear Tl T{eM J7e Fied.

() AT 20% AT Hard AFRTa AR ST 6o M.

it 39

(1) (b) 3 () (2) W (b) (3)  (e) 3nfor (f) 4) w® (f)

What is not true of the ‘Gadgil Formula’ ?

(a) The Gadgil Formula for allocation of central assistance to state plans was originally
evolved in the year 1969.

b)  The Gadgil Formula was used as such for the IV and V plans.

c)  This formula was modified in 1980

d) The formula revised in 1991 is called Gadgil Mukherjee Formula.

() The formula as revised in 1991 first sets apart funds for special category states.

(f)  Then ;t sets apart 20% funds for centrally aided schemes.

Answer Options :
(1) (b) and (¢} (2) (b) alone (3) (e)and (f) (4) (f) alone
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145, TS woR e aReT e
(1) 1983 BHl FIfach WHUSIA HEME! AT FE1d QHISh HERHHd Ao Hol.
(2} 7525 TSR, WEUE! G FE Fofarre! 7@ € T o ARE <o 96 8.
(3) e eege ofE BIve AEad 3 Y IRl &0 9 WA S UR.
(4) 3T g TiSHE JEATEI, T 9 1€ ©Ee TRE SR drede S
Which one of the following statements is incorrect 7
(1) The scheme of family counselling centres was implemented by CSWB in 1983.
(2)  Earlier a grant of Rs. 1 lakh was given to voluntary organizations for running the
centres on 75 : 25 basis.
(3) The scheme was evaluated by Tata Institute of Social Sciences and the Govt. revised
the scheme.
(4) The centres are now being run in Police Headquarters, Jails and for Red Light Areas
too.
146, HEM TeF B AR S8 § _ STHAT.
(1) W& <amaeErd =
2) T FAEEIAN AT
(3) h% FERAE UEF S WA TEYR STHUIR 05t
(4)  dergHH
The Chairman of the Central Consumer Protection Council is :
(1}  Judge, Supreme Court
(2} Judge, High Court
(3) __Minister incharge of the Consumer Affairs in the Central Govt.
(4) Prime Minister
147. @rite {qymie fo=r #1.

(a) EEIETE HFE1 1940 AHE TGS Ued ¥ o Bl

(b) =N ! AR W IR FRUTHT F o AeH A1 FEF A ATE

Tt I

(1) SEIE 9 g aTea.

(2) A (a) T A O T (b) THH R

(3) AR AR T IR

(4) T (a) TRID TR 0 A (b) TUEL R,

Consider the following statements :

(a) The provisions of the Arbitration Act, 1940 are not applicable to Consumer Forums.
(b) A person who obtains goods for any commercial purpose is not a consumer.
Answer Options :

(1) Both the statements are false.

(2) Statement (a) is true and statement (b) is false.

(3) Both the statements are true.

{4) Statement (a) is false and statement (b) is true.
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148. GIETEIeh! I <ATAIAET TV 3 MRF Fol AR 1, AFGNY T Fragi=t Ta
T AT MEATRR TNfad S HEeyit HraemHa T8l

(1) o Heis Sivies fa. g sTeeataran

(2) FAeH o4 fa. favauret €. =, 9. anfor s
(3) 9w FUR fan fa. oud ToRm grEew .
i e fa. wew e,

In which of the following cases, it was challenged that the parliament has no legislative
competence to establish a parallel hierarchy of consumer courts ?

)
(4)

(1) Spring Meadows Hospital Vs Harjal Ahluwalia.

(2) State of Karnataka Vs Vishwabharati House Building Coop. Society and others
(3) Ashok Kumar Singh Vs M/S. Gujarat Cycles Ltd.

{(4) Shoba Global Vs Air India.

149, T5ic TR WErEN WeHid G Tt HivE faum g ana ?
(a) foegr o HEM YA TN ST
(b) =i A feraaet vEia e AR
(c) UF He wHiTea TR 4 TaE Nihd.
(d) 91 HETE TG HE R A,

ot 39
(1) @ faum 9 TR (2) (a) 3T (¢) foum we aMea.
(3) (b) €A IR. (4) e wd faum s amee.

Which of the following statements are “True” in case of a District Forum ?
(a) There are five members in the district forum.

(b} No seat is reserved for women.

(c) Monetary jurisdiction of the district forum is upto one crore.

(d) District forum is established by the central government.

Answer Options :

(1)  All the above are true (2} (a) and {c) are true

(3) (b)is true (4) All the above are false/untrue
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TTEeh TREI0T FRRIAY 3o ' Hae " ST Wil deh! SIve W1 sids@ e 7

(a) FH7 feden g (b) THR sforden fHere dawtg da
(c) HrTgEEa (d) T R,

Tt Sy

1) (b) =7 (d) B (2)  (d) =

(3) (b)) ¥ (d) W (4) " wd

Within the definition of “Service” under Consumer Protection Act, which of the following
services are not included ?

{a) Banking Services. (b) Medical treatment received in Govt. Hospital.
(c}  Supply of electricity. (d) Private tuition.
Answer Options :
(1) (b) and (d) only (2) (d) only
(3) (b), (¢) and (d) only (4) All the above
-o0o-
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Ta Il — (7% 1 989 q4....)

®) TETifaRne fafea soea fafte Il &= @ (6 9%) FE.  wwAgfEhaafai STafThay o
TR FORER H FH Hedm 7 U Hogr=il YA O R, T8 THG TS 9 TFER UGS
WA o Foe ' wlaime) Soman o iy e sifuftEn-s2” arie adER SR
FIE JI 9 AN K HAIG Ueh I FRETHEA S0 EHET 9 TS g T e fem
= R,

9) HR WEHAFEE AT fafsd e @ oearw ARl € TR At uisaEt
UF N TEET AR, WTH R FHTATR WIUATE! IHTARA ANUCAT IEUTHR Sl HIT- 1
ARAGETHRS 7 6w U HUT Aavas 3L

AN ER]
Te 3. 201 FAE = TR FIOYAE R0 I TIS el ?
(1) @ garig BTl 2 TeEREg I
@) TS yEHE T (@) T TS
& YA AT I (3) TS THEER 197 9 3. We W WER W '(3)" Ine, aaa
Tt T ¥ %, 201 GHe sE-was Q)" ® ad@ (e swifey $Ee qafen
HEEF .

19520 O @O @ @

I ISR TR YAIRaadie Tod® T A SEAE © §Re TeRed Teeed
INWHHFANG 1 & FHESHFTEE Safia Iz OfT sHifed FEd TEaE. PR
Ter HTodl YIS Sl arqtd, Yo o7 wige i 91 .
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